orother.

Multi-Function Machine

SERVICE MANUAL

MODEL: MFC6800/DCP1000
MFC9180/MFC9160



© Copyright Brother 2001
All rights reserved.

No part of this publication may be reproduced in any
form or by any means without permission in writing
from the publisher.

Specifications are subject to change without notice.



PREFACE

This publication is a Service Manual covering the specifications, construction, theory of operation,
and maintenance of the Brother multi-function machine. It includes information required for field
troubleshooting and repair--disassembly, reassembly, and lubrication--so that service personnel
will be able to understand machine function, to rapidly repair the machine and order any necessary
Spare parts.

To perform appropriate maintenance so that the machine is always in best condition for the
customer, the service personnel must adequately understand and apply this manual.

This manual is made up of six chapters and appendices.

CHAPTER1 GENERAL DESCRIPTION

CHAPTER 2 INSTALLATION

CHAPTER 3 THEORY OF OPERATION

CHAPTER 4 DISASSEMBLY/REASSEMBLY AND LUBRICATION
CHAPTER 5 MAINTENANCE MODE

CHAPTER 6 ERROR INDICATION AND TROUBLESHOOTING

Appendix 1. EEPROM Customizing Codes
Appendix 2. Firmware Switches (WSW)

Appendix 3. Circuit Diagrams

This manual describes the models and their versions to be destined for major countries. The specifications
and functions are subject to change depending upon each destination.



SAFETY INFORMATION

Laser Safety (110-120V Model only)

This printer is certified as a Class 1 laser product under the US Department of Health and Human
Services (DHHS) Radiation Performance Standard according to the Radiation Control for Health
and Safety Act of 1968. This means that the printer does not produce hazardous laser radiation.

Since radiation emitted inside the printer is completely confined within the protective housings and
external covers, the laser beam cannot escape from the machine during any phase of user
operation.

CDRH Regulations (110-120V Model only)

The Center for Device and Radiological Health (CDRH) of the US Food and Drug Administration
implemented regulations for laser products on August 2, 1976. These regulations apply to laser
products manufactured from August 1, 1976. Compliance is mandatory for products marketed in
the United States. The label shown below indicates compliance with the CDRH regulations and
must be attached to laser products marketed in the United States.

The label for Chinese products

MANUFACTURED:  JUNE 2001 C
BROTHER CORP. (ASIA) LTD.

BROTHER BUJI NAN LING FACTORY

Gold Garden Industry, Nan Ling Village, Buji,

Rong Gang, Shenzhen, China.

This product complies with FDA radiation

performance standards, 21 CFR Subchapter J.




CHAPTER 1
GENERAL DESCRIPTION



1.1

1.2

CHAPTER 1 GENERAL DESCRIPTION

CONTENTS
L 10 0 | 11
1.1.1  External Appearance and Weight ... 1-1
1.1.2  COMPONENES ... eietiieiiee ettt e e e e e et e e e e e e s e esaban e e e eaeeeesesnbsaneeaeeeeaaannes 1-1

SPECIFICATIONS ...t n e s 1-2



1.1 OUTLINE

1.1.1 External Appearance and Weight

The figure below shows the machine appearance and approximate dimensions.

(H) 354 mm
13.9"
(D) 438 mm (W) 459 mm
’ 18.1"
Weight: Machine proper Approx. 11 kg
Machine (incl. drum unit & toner cartridge) Approx. 12 kg
In package Approx. 16 kg

1.1.2 Components

The machine consists of the following major components:

ADF & document tray ASSY

Scanner base Control panel ASSY

Scanner mount

Board access cover

Main cover
Heat-fixing unit

Gear drive unit
Low-voltage power
supply PCB

High-voltage power
Bottom plate Main PCB NCU PCB supply PCB



1.2 SPECIFICATIONS

YL4-FB(MFC)
MFC 6800

(1/2)
YL4-DCP
DCP 1000

Print Engine

Laser (YL4)

Laser (YL4)

Modem Speed (bps)

14,400 (Fax)

Transmission Speed (sec.)

6 (Brother#1,MMR)

ITU-T Group G3 -

Coding Method MH/MR/MMR -
Input/Output Width 5.8"-8.5"/3.5"-8.5" 5.8"-8.5"/3.5"-8.5"
Input/Output Length 5"-14"/5"-14" 5"-14"/5"-14"
ADF (pages) Up to 30 Up to 30

LCD Size 16 characters x 2 lines 16 characters x 2 lines
LCD Backlight No No

Backup Clock Yes (1 hour) Yes (1 hour)
Memory Capacity (physical) 8 Mbytes (RAM) 8 Mbytes (RAM)
Optional Memory No No

Dimensions w/ Carton (WxDxH)

596 x 566 x 452 mm

596 x 566 x 452 mm

Dimensions w/o Carton (WxDxH)

459 x 458 x 354 mm

459 x 458 x 354 mm

[Weight w/ Carton 16 kg 16 kg

Weight w/o Carton 11 kg 11 kg

Color Gray 1495 Gray 1495

Operating Environment Temperature 10 - 32.5 degrees Centigrade 10 - 32.5 degrees Centigrade
Humidity 20 - 80% 20 - 80%

Power Source

120 VAC 50/60Hz

120 VAC 50/60Hz

Power Consumption (Sleep/Standby/Peak)

15W/ 75W/ 940W or less

15W/ 75W/ 940W or less

On/Off Switch Yes Yes
Warm Up Time Approx. 13 sec. Approx. 13 sec.
Handset No -
One-Touch Dial No -
Speed Dial 100 -
Speaker Phone No -
Chain Dialing Yes -
Caller ID Yes -
Call Waiting Caller ID No -
Distinctive Ringing Yes -
Call Manage No -
Hold/Mute Key No -
Power Failure Dialing No -

Speaker (Volume)

Yes (3 steps + OFF)

Ring (Volume)

Yes (3 steps + OFF)

Handset Volume

PBX Feature No -
Transfer Method No -
FAX

Internet FAX N/A -
Easy Receive/Fax Detect Yes -
Fax/Tel Switch - -
Enhanced Remote Activate Yes -
Scan Speed (sec./page, A4:Standard) Approx. 3 -

Memory Transmission (Brother#1 Chart)

500 pages (MMR/Standard Resolution)

Memory Transmission (ITU-T Chart)

400 pages (MMR/Standard Resolution)

Broadcasting

Yes (150 locations)

Manual Broadcasting

Yes

Out-of-Paper Reception (Brother #1 Chart)

500 pages (MMR/Standard Resolution)

Out-of-Paper Reception (ITU-T Chart)

400 pages (MMR/Standard Resolution)

Auto Reduction Yes -
ECM (Error Correction Mode) Yes -
Group Dial Yes (up to 6) -
Memory Security No -
Memory Backup No No
Color FAX (Document Send/Receive) No -
Color FAX (Memory Send/Receive) No -
REPOR
Activity Report/Journal Report Yes (up to 200) -
Transmission Verification Report Yes -
External TAD Interface Yes No
Host Interface (Serial) No No
Host Interface (IEEE1284) Yes Yes
Host Interface (USB) Yes Yes
LAN Interface No No
Acceptable Media Card Slot N/A N/A
Analog Video Port N/A N/A




2/2)

YL4-FB(MFC) YL4-DCP
Color/Mono Mono Mono
Engine Type Laser (YL4) Laser (YL4)
Resolution (dpi) 600 x 600 600 x 600
Speed (ppm) up to 10 up to 10
Paper Capacity (sheets) 200 200
Additional Paper Capacity (sheets) No No
Output Paper Capacity (sheets) 50 50
Standard Print Language Windows GDI Windows GDI
Emulation No No
Resident Fonts No No
Fonts Disk Based Yes Yes
Paper Handling Size LTR, LGL, A4, B5, A5, EXE LTR, LGL, A4, B5, A5, EXE
Manual Feed Slot N/A N/A

Other Paper Type

OHP, Envelopes, Organizer

OHP, Envelopes, Organizer

Sheet Weight  (Paper Tray)
(Manual Slot)

64-158 g/m? (16 - 42 Ib)
N/A

64-158 g/m? (16 - 42 Ib)
N/A

Printer Driver

Win95/98/98SE/Me/2000Professional/
NT4.0WS MacOS 8.5.1-9.1

Win95/98/98SE/Me/2000Professional/
NT4.0WS MacOS 8.5.1-9.1

COPY

Color/Mono Mono Mono
Speed (cpm) Up to 10 Up to 10
Multi Copy (Stack) Yes Yes

Multi Copy (Sort)

Yes (ADF only)

Yes (ADF only)

Reduction/Enlargement (%)

25 -- 400 in 1% increments

25 -- 400 in 1% increments

Resolution (dpi)

300 x 300

300 x 300

First Copy Out Time (From Ready Mode/ADF)

Approx. 13 sec.

Approx. 13 sec.

(From Ready Mode/FB)

Approx. 12 sec.

Approx. 12 sec.

SCANNER

Color/Mono Color Color
Resolution(Optical : dpi) 600x300 (Max. 600x2,400) 600x300 (Max. 600x2,400)
Resolution(Int. : dpi) 9,600x9,600 9,600x9,600

Gray Scale 256 256

Color Depth 24 bit (8 bits x 3) 24 bit (8 bits x 3)

TWAIN Compliant&Operating System

Win95/98/98SE/Me, WinNT4.0WS/
2000Professional, MacOS 8.6-9.1

o

Win95/98/98SE/Me, WinNT4.0WS/
2000Professional, MacOS 8.6-9.1

o

PCI Scanner (Parallel/Serial)

Parallel/USB

Parallel/USB

For Windows

BUNDLED SOFTWARE

Support OS version Win95/98/98SE/Me, WinNT4.0WS/2000Professional | Win95/98/98SE/Me, WinNT4.0WS/2000Professional
Printer Driver Yes Yes
TWAIN Yes Yes
Viewer Yes Yes
Pop Up Menu Yes Yes
OCR| Yes Yes
PC Fax Yes(TX:FAX Share only) N/A
Remote Setup Yes No
PC Diagnostics Yes No

Others Auto E-mail Printing(Win 95/98(SE)/Me only) Auto E-mail Printing(Win 95/98(SE)/Me only)
For iMac/G3/G4.
Support OS version Printer Driver MacOS 8.5.1-9.1 MacOS 8.5.1-9.1
TWAIN MacOS 8.6-9.1 MacOS 8.6-9.1
Printer Driver Yes Yes
TWAIN Yes Yes
Viewer Yes Yes
Pop Up Menu No No
OCR| Yes Yes
PC Fax Yes No
Remote Setup No No
PC Diagnostics No No
Others - -
ACCESSORY
Life / Yield Starter: 2,200 pages @5% coverage Stater: 2,200 pages @5% coverage
Toner : TN-250 Regular:2,200 pages @5% coverage Regular:2,200 pages @5% coverage
Drum : DR-250 20,000 pages @5% cvrg: 20 pages/job 20,000 pages @5% cvrg: 20 pages/job

8,000 pages @5% cvrg: 1 page/job

8,000 pages @5% cvrg: 1 page/job

1-3



YL4-FB(w/ Modem)

(1/2)

YL4-FB(w/o Modem)

Print Engine Laser (YL4) Laser (YL4)
Modem Speed(bps) 14,400 (Fax) -
Transmission Speed(sec.) Approx. 6 (brother #1chart, MMR) -

ITU-T Group G3 -

Coding Method MH/MR/MMR -
Input/Qutput Width 5.8"-8.5"/3.5"-8.5" 5.8"-8.5"/3.5"-8.5"
Input/Output Length 5"-14"/5"-14" 5"-14"/5"-14"
ADF(pages) Up to 30 (75 g/m?) Up to 30 (75 g/m?)
LCD size 16 characters x 2 lines 16 characters x 2 lines
LCD Backlight Yes Yes
Backup Clock Yes (9 hours) Yes (1 hour)
Memory Capacity (physical) 8 Mbytes (RAM) 8 Mbytes (RAM)
Optional Memory N/A N/A

Dimensions w/ Carton (WxDxH)

596 x 566 x 452 mm

596 x 566 x 452 mm

Dimensions w/o Carton (WxDxH)

459 x 458 x 354 mm

459 x 458 x 354 mm

Weight w/ Carton 16 kg 16 kg

Weight w/o Carton 11kg 11kg

Color Gray 1495 Gray 1495

Operating Environment Temperature 10 - 32.5 degrees Centigrade 10 - 32.5 degrees Centigrade
Humidity 20-80 % 20-80 %

Power Source

220-240 VAC 50/60Hz

220-240 VAC 50/60Hz

Power Consumption (Sleep/Standby/Peak)

15W/ 75W/ 940W or less

15W/ 75W/ 940W or less

On/Off Switch

Yes

Yes

Warm Up Time Approx. 12 sec. Approx. 12 sec.
TELEPHONE NA
Handset No -
One-Touch Dial No -
Speed Dial 100 -
Speaker Phone No -
Chain Dialing Yes -
Caller ID N/A -
Call Waiting Caller ID N/A -
Distinctive Ringing Yes (UK.DEN only) -
Call Manage No -
Hold/Mute key N/A -
Power Failure Dialing N/A -
Speaker Volume Yes (3 steps + OFF) -
Ring Volume Yes (3 steps + OFF) -
Handset Volume N/A -
PBX Feature Yes -
Transfer Method Flash -
FAX N/A
Internet FAX N/A -
Easy Receive/Fax Detect Yes -
Fax/Tel Switch Yes -
Enhanced Remote Activate Yes -

Quick Scan(Memory transmission)

Yes as default. Approx.2.8 sec/page (A4 standard)

Memory Transmission (ITU-T #1 Chart)

400 pages (MMR/Standard Resolution)

Memory Transmission (Brother#1 Chart)

500 pages (MMR/Standard Resolution)

Broadcasting

Yes (150 locations)

Manual Broadcasting

Yes (50 locations )

Out-of-Paper Reception (ITU-T #1 Chart)

400 pages (MMR/Standard Resolution)

Out-of-Paper Reception (Brother#1 Chart)

500 pages (MMR/Standard Resolution)

Auto Reduction Yes -
ECM(Error Correction Mode) Yes -
Group Dial Yes (up to 6) -
Memory Security Yes -
Memory Backup Yes (Max. 4 days ) -
Color FAX (Document Send/Receive) No / No -
Color FAX (Memory Send/Receive) No / No -

LIST/REPORT
Activity Report/Journal Report

Yes (up to 200)

Transmission Verification Report

Yes

External TAD Interface Yes No
Host Interface (Serial) No No
Host Interface (IEEE1284) Yes Yes
Host Interface (USB) Yes Yes
LAN Interface No No
Acceptable Media Card Slot N/A N/A
Analog Video Port N/A N/A

1-4



YL4-FB(w/ Modem)

2/2)

YL4-FB(w/o Modem)

Color/Mono Mono Mono
Engine Type Laser (YL4) Laser (YL4)
Resolution (dpi) 600 x 600 600 x 600
Speed (ppm) up to 10 up to 10
Paper Capacity (sheets) 200 (75 g/m?) 200 (75 g/m?)
Additional Paper Capacity (sheets) No No
Output Paper Capacity (sheets) 50 50
Standard Print Language Windows GDI Windows GDI
Emulation Yes (PCL5e) Yes (PCL5e)

Resident Fonts

Yes ( Bitmap font: LetterGothic16.66, OCR-A,
OCR-B, Scalable font: 49 fonts )

Yes ( Bitmap font: LetterGothic16.66, OCR-A,
OCR-B, Scalable font: 49 fonts )

Fonts Disk Based Yes Yes
Paper Handling Size LTR, LGL, A4, A5, EXE, A6, I1SO B5, ISO B6 LTR, LGL, A4, A5, EXE, A6, ISO B5, ISO B6
Manual Feed Slot N/A N/A

Other Paper Type

OHP, Envelopes, Organizer

OHP, Envelopes, Organizer

Sheet Weight (Paper Tray)

(Manual Slot)

64-158 g/m” (16 - 42 Ib)

64-158 g/m? (16 - 42 Ib)

N/A

N/A

Printer Driver

Win95/98(SE)/Me/NT4.0WS/2000 professional

Win95/98(SE)/Me/NT4.0WS/2000 professional

COPY

Color/Mono Mono Mono
Speed (cpm) Up to 10 Up to 10
Multi Copy (Stack) Yes Yes

Multi Copy (Sort)

Yes (on ADF only )

Yes (on ADF only )

Reduction/Enlargement (%)

25 t0 400 in 1% increments

25 to 400 in 1% increments

Resolution (dpi)

300 x 300 (print)

300 x 300 (print)

First Copy Out Time (From Ready Mode/ADF)

Approx. 13 sec.

Approx. 13 sec.

(From Ready Mode/FB)

Approx. 12 sec.

Approx. 12 sec.

SCANNER

Color/Mono Color/Mono Color/Mono

Resolution (Optical: dpi) 600 x 2,400 600 x 2,400

Resolution (Int.: dpi) 9,600 x 9,600 9,600 x 9,600

Gray Scale 256 256

Color Depth 24 bits (8 bits x 3) 24 bits (8 bits x 3)

TWAIN Compliant&Operating System Win95/98(SE)/Me/NT4.0WS/2000Professional Win95/98(SE)/Me/NT4.0WS/2000Professional
MacOS 8.6-9.1 MacOS 8.6-9.1

PCI Scanner (Parallel/Serial) Parallel/USB Parallel/USB

For Windows

BUNDLED SOFTWARE(For Windows)

Toner:TN-8000

Regular:2,200 pages @5% coverage

Support OS version Win95/98/98SE/Me, WinNT4.0WS/2000Profrssional | Win95/98/98SE/Me, WinNT4.0WS/2000Profrssional

Printer Driver Yes Yes

TWAIN Yes Yes

Viewer Yes Yes

Pop Up Menu Yes Yes

OCR Yes Yes

PC Fax Yes No

Remote Setup Yes No

PC Diagnostics Yes Yes

Others No No

For iMac/G3/G4

Support OS version Print Mac0S8.5.1-9.1 Mac088.5.1-9.1
Others Mac0S8.6-9.1 MacOS8.6-9.1

Printer Driver Yes Yes

TWAIN Yes Yes

Viewer No No

Pop Up Menu No No

OCR No No

PC Fax Yes No

Remote Setup No No

PC Diagnostics No No

Others No No

Life / Yield Starter: N/A Starter: N/A

Regular:2,200 pages @5% coverage

Drum:DR-8000

20,000 pages @5% cvrg: Continuous printing
8.000 pages @5% cvrg: 1 pagefjob

20,000 pages @5% cvrg: Continuous printing
8.000 pages @5% cvrg: 1 page/job

1-5




CHAPTER 2
INSTALLATION



21

2.2

CHAPTER 2 INSTALLATION

CONTENTS

INSTALLING THE UPDATE DATA TO THE FACSIMILE MACHINE..............cccceeierinnes -

SETTING ID CODES TO FACSIMILE MACHINES



2.1 INSTALLING THE UPDATE DATA TO THE
FACSIMILE MACHINE

If the program version is updated or the main PCB is replaced, then install the update program
onto the flash ROM of the main PCB.

The program installation requires a PC/AT-compatible computer (which is capable of running MS-
DOS or its compatible OS).

Connecting the facsimile machine to your computer

(1) Make sure that your computer is turned off.

(2) Make sure that the machine's power cord is unplugged from a wall socket. (If the machine has
a power ON/OFF switch, make sure that the switch is turned off.)

(3) Connect the parallel interface cable to the parallel port on the back of the machine and secure
it with the lock wires.

(4) Connect the other end of the interface cable to the printer port of your computer and secure it
with the two screws.

(5) While pressing the 5 key on the machine's control panel, plug the machine's power cord into a
wall socket (or turn on the power ON/OFF switch if the machine has the switch).

(6) Check to see that the following pattern displays on the LCD. If it does not display, go back to
step (2) above.

RO B | - Istrow: Blank-and-black patterns
«~ 2nd row: Blank

(7) Turn on your computer.

Lock wires
Host computer

2-1



Installing the update data onto the flash ROM of the facsimile machine

NOTE: The following is an installation procedure example on a PC that is running Windows 95/98.

(D
2

3)

“4)
)

Copy the update data and transfer utility onto the desired directory of the hard disk.
e.g., CAUPDATE

Click the Start button, point to Programs, and then click MS-DOS Prompt to open an MS-DOS
window.

Type the drive letter where the update data and transfer utility are located. In the above
example, type C:\ from the command line and press the ENTER key.

Then type CD UPDATE and press the ENTER key.
Check that your computer is connected with the facsimile machine correctly.

To start the transfer utility transmitting the update data to the flash ROM of the facsimile
machine, type the following:

ICEN filename /b

Then press the ENTER key.

During downloading, the machine beeps intermittently.

Upon completion of the downloading, the machine beeps continuously.

NOTE: If the facsimile machine cannot return to the standby state after completion of downloading,
turn the power off and on.

2-2



2.2 SETTING ID CODES TO FACSIMILE
MACHINES

B Function

Brother facsimile machines are assigned unique ID codes (character strings) at the factory. If you
replace the main PCB of the machine, the machine will lose its assigned ID code so that it will not
be identified by the connected PC*.

You need to assign a unique ID code (character string) to the machine according to the procedure
given here. For models covered by this manual, set serial numbers given to individual machines as
ID codes.

(*ID codes are essential when more than one machine is connected to a single PC via USB.)

B Connecting each of facsimile machines to your PC

(M
2

3)

“4)

)
(6)

Make sure that your PC is turned off.

Make sure that the machine's power cord is unplugged from a wall socket or other power
source.

Connect the interface cable to the parallel interface port on the back of the facsimile machine
and secure it with the lock wires.

Connect the other end of the interface cable to the printer port of your PC and secure it with
the two screws.

Plug the machine's power cord into a wall socket or other power source.

Turn on your PC.

B Operating Procedure

(M

2

3)

On your PC, run the ID setting utility. Follow the instructions shown on the PC's screen and
enter the 9-digit serial number (e.g., G01012345) printed on the nameplate labeled to the back
of the facsimile machine as an ID code. Then press the Enter key.

The ID setting utility will transmit the ID code data from your PC to the facsimile machine
and then it will terminate.

The facsimile machine will automatically return to the standby mode.

To check whether the entered character string (ID code) is correct, make the machine enter the
maintenance mode (refer to CHAPTER 5, Section 5.1) and then press the 1 key twice
(Subsection 5.3.5).

The facsimile machine will print out a Configuration List. At the right top of the list, "SER.#:
BROXXXXXXXXX" is printed.

Check that the character string entered in step (2) is printed in "XXXXXXXXX."
If it is OK, press the 9 key twice to exit from the maintenance mode.

If something other than that is printed in XXXXXXXXX, check the connection between the
PC and facsimile machine and go back to step (1).

2-3



CHAPTER 3
THEORY OF OPERATION



3.1
3.2

3.3

CHAPTER 3 THEORY OF OPERATION

CONTENTS
OVERVIEW ... ieeririsss s sssss s s e s s s ss s smns e e eessas s smmn e e e essan s nsnmn s e e e eesanssnnnnneneenssnnsnnnnnnn 31
MECHANISIMS ... e e s e e s s s s s me e s e e e e e s mesmesemeeenneeneeenennnnnas 3-2
3.2.1  Scanner MEChANISM ......cciuiiiiiiiii ettt 3-4
3.2.2  Laser Printing MechaniSm .........c.ocuiiiiiiiii e 3-6
3.2.2.1 Paper pulling-in, registration, feeding, and ejecting mechanism.................. 3-6
3.2.2.2  Print process MeChaniSM.........coiiiiiiiiiiiiii e 3-8
3.2.2.3 Heat-fiXing MeChaniSM ...........uviiiiiiiiiiee e 3-9
3.2.3  Sensors and ACIUALOIS .........uuiiiiiiiiiie ittt 3-10
CONTROL ELECTRONIGCS. ......cooiiiiiiiiccceerrrerssssessssssss s e s s ssssssssssmss s ssssssssssssnsssessessnsssnnns 3-12

3.3.1  CoNfIQUIALION ..o 3-12



3.1 OVERVIEW

A A
Y Y
Control Centronics _
panel parallel interface [ USB interface ]
| A A
) Y Y
Control Section
Printer A
data
Fax data
Y Y Y Y Y
e A
Line -e-——»{ NCU* ' Speaker Scanner unit Laser printing unit Paper Low- and
- CCD unit Charai . feeding high-voltage
- CCD motor arging, exposing. mechanism | | power
developing,

transferring, and supplies

heat-fixing processes

- Electrical charger

- Laser unit
(including the polygon
motor)

- Laser-sensitive drum

- Developer roller

- Transfer roller

- Eraser lamp

- Heater roller

- Main motor

. J

* Provided on models supporting facsimile function.

3-1



3.2

MECHANISMS

The facsimile machineis classified into the following mechanisms:

B SCANNER MECHANISM - ADF mechanism
- Document scanning mechanism

B LASER PRINTING MECHANISM - Paper pulling-in and registration mechanism

- Print process mechanism (consisting of charging,
exposing, developing, transferring, and erasing
processes) with paper feeding mechanism

- Heat-fixing mechanism with paper feeding
mechanism

- Paper g ecting mechanism
B SENSORSAND ACTUATORS

3-2



Document front
sensor actuator
Separation
roller ASSY

Document

feed roller / \

Document rear é‘/j@ Document guide base
sensor actuator S QQ&
(o]
CCD HP /
sensor plate O
/\(ﬂlr‘:"\ C’ﬂ,ﬁl‘% ]
| ° \’ I/
%\ = \‘ T /, 1\
T =\ T T\ T i [T/ i
= =\ NI —= \
= \ ' \
CCD unit
CCD rail CCD flat cable

SCANNER MECHANISM (Viewed from the front)

Paper ejecting mechanism

Paper pulling-in and Heat-fixing mechanism | With paper
registration mechanism Print process mechanism| feeding
mechanism

LASER PRINTING MECHANISM (Viewed from the left)

3-3



3.2.1 Scanner Mechanism

This mechanism consists of the document guide base, ADF & document tray ASSY and scanner
unit.

The ADF (automatic document feeder) unit contains a separation roller ASSY, document feed
roller ASSY, document gjection roller, ADF motor, and document front and rear sensors.

The scanner unit consists of a scanner top cover, CCD unit, CCD drive mechanism, CCD HP
sensor, and scanner base,

For detail s about the sensors, refer to Subsection 3.2.3.

Document guide base

Document tray

Document ejection roller
ADF & document tray ASSY

ADF motor

Scanner top cover

Document feed roller

Separation roller ASSY

CCD drive belt
CCD motor
CCD unit

CCD rail

Scanner unit

Scanner base

3-4



This scanner mechanism supports a dual scanning system.

(D)

)

If you set documents on the document guide base with their faces up and start the scanning
operation, then the ADF motor rotates to pull in those documents into the ADF unit, starting
from the top sheet to the bottom, page by page. Each document curves downwards and turns to
the right with the document feed roller so as to advance above the CCD unit, and then it is fed
out to the document tray with the document ejection roller ASSY .

Thisway, documents move above the CCD unit being kept in a stationary position.

If you open the ADF & document tray ASSY, put a sheet of document (or put a bound book
opened) on the glass of the scanner top cover, close the ADF & document tray ASSY, and
start the scanning operation, then the CCD drive mechanism will be driven.

The CCD motor built in the CCD unit rotates. As illustrated below, the CCD drive gear and
idle pulley carry the CCD drive belt on the underside of the CCD unit, so clockwise and
counterclockwise rotations of the CCD motor move the CCD unit to the right and left,
respectively.

In this scanning system, the CCD unit moves horizontally beneath a document being kept in
stationary position.

CCD drive belt

Underside of the
CCD unit turned
upright

CCD unit
turned upright

Scanner base

The CCD unit contains a charge coupled device (CCD) image sensor. The cold-cathode
fluorescent lamp illuminates a document and the reflected light of the scanned image data is
transmitted via the mirrors into the lens which reduces the scanned data so as to form the image on
the CCD.

3-5



3.2.2 Laser Printing Mechanism

3.2.2.1 Paper pulling-in, registration, feeding, and ejecting mechanism

Paper pulling-in and registration mechanism

Paper feeding mechanism

/ Pull-in roller

Hopper Paper ejecting mechanism

> Paper ejection roller

A

=
/ \ Paper tray

Laser-sensitive drum Heater roller Paper ejection sensor actuator

Pull-in roller drive gear
\/\ / Gear drive unit

Drum drive gear

Registration sensor
actuator

Registration roller

Heater roller
drive gear

Paper ejection
roller drive gear

Main motor

3-6



Paper pulling-in and registration mechanism

Solenoid spring

Solenoid lever

Clutch release lever
Planetary

Intermediate gear
gear system

Pull-in roller drive gear
Clutch spring

Paper feed solenoid

Heater roller drive gear

Paper ejection roller
drive gear

Drum drive gear

Main motor

Gear drive unit/

The paper pulling-in and registration mechanism consists of the pull-in roller gear (incorporated in
the auto sheet feeder ASF), planetary gear system, paper feed solenoid, solenoid lever, clutch
release lever, and registration sensor. (For the details about the sensor, refer to Subsection 3.2.3.)

If the main motor rotates clockwise, the rotation is transmitted to the intermediate gear of the
planetary gear system. As the intermediate gear rotates, the pull-in roller drive gear also rotates
since the clutch gear is locked by the solenoid lever and the clutch release lever. Accordingly, the
pull-in roller in the ASF rotates to pull in paper into the machine, a sheet at atime.

If the paper feed solenoid is retracted and the clutch release lever is operated according to the cam
profile of the pull-in roller drive gear so as to release the clutch gear, the clutch gear rotates and
the pull-in roller drive gear does not rotate. This way, the clutch gear switches the transmission of
the motor rotation to the pull-in roller drive gear on and off.

The solenoid on/off timing and the clutch release lever timing allow this mechanism to pull in a
sheet and register it against the registration roller.

Paper feeding and ejecting mechanism

If the main motor rotates clockwise, the rotation is transmitted via the gear train to the drum drive
gear, heater roller drive gear, and paper gjection roller drive gear.

After the paper passes through the heat-fixing process, it will be gjected onto the paper tray.

If the leading edge of the paper pushes up the actuator of the paper eection sensor, the
photosensor becomes opened, signaling the start of paper gection. If the trailing edge has passed
through the sensor actuator, the sensor becomes closed, signaling the completion of paper ejection.
Then, the main motor stops rotation.

3-7



3.2.2.2 Print process mechanism

Paper Transfer roller
Drum unit
Toner augers
\ . \/\/
Toner cartridge

Developer ™

Toner sensor roller

/
(ﬁler supply @ /
roller
! 7_1 \
Cleaner roller

Charger (Corona wire)
Polygon mirror (I M

Mirror

Polygon motor

Laser unit .
Mirror

Cover glass

The print process unit works with laser beam, electrical charges, and toner. The graph below
shows the transition of electrical charge on the surface of the laser-sensitive drum through the five
processes: charging, exposing, developing, transferring, and erasing processes.

A single cycle of laser-sensitive

‘ drum operation
1 @ 1®©| @
+1000 - _ @ —
] (D Charges the drum surface positively.
Electrical +700 - ‘ @ Exposes the drum surface to a laser beam
chzggréca | _ to form a latent image and develops the latent
on the drum R image with toner.
surface (V) (a) Unexposed area (Non-image area)
(b) | (b) Exposed area (Image area)
+400 \—J (® Transfers the toner-formed image from the
+300 - drum to paper.
@) Erases the residual potential.

Time —=

3-8



3.2.2.3 Heat-fixing mechanism

Pressure roller

"~ .
\(g) (Paper ejection roller)

Heater roller

(including the FU lamp) ’_‘ \
Heat-fixing unit \

(Paper ejection sensor actuator)

As the paper passes between the heater roller and the pressure roller in the heat-fixing unit, the
heater roller fuses the toner on the paper.

3-9



3.2.3 Sensors and Actuators

This machine has ten sensors. seven photosensors, two thermistors and a mechanical switch as

described below.

Sensor name Type Located on
Document front sensor Photosensor Document sensor PCB in the
Document rear sensor Photosensor ADF
Document tray open sensor Mechanical switch Document tray
Scanner open sensor Photosensor Control panel PCB
Registration sensor Photosensor Main-fan PCB
Paper g ection sensor Photosensor High-voltage power supply PCB
CCD HP sensor Photosensor CCD PCB on the CCD unit
Toner sensor Photosensor
Toner thermistor Thermistor Toner sensor PCB
Heater thermistor Thermistor Heat-fixing unit

» Document front sensor which detects the presence of documents.

» Document rear sensor which detects the leading and trailing edges of pages to tell the control
circuitry when the leading edge of a new page has reached the starting position and when the
scan for that page is over.

» Document tray open sensor which detects whether the document tray is closed.
» Scanner open sensor which detects whether the scanner unit is closed.

» Registration sensor which detects the leading and trailing edges of paper, which alows the
controller to determine the registration timing and check paper jam.

» Paper gjection sensor which detects whether the recording paper goes out of the machine.
» CCD HP sensor which detects whether the CCD unit is placed in the home position.
» Toner sensor which detects whether there istoner or atoner cartridge is loaded.

e Toner thermistor which allows the controller to monitor the ambient temperature of the toner
cartridge.

e Heater thermistor which allows the controller to monitor the temperature of the heater roller of
the fixing unit.

These photosensors are a photointerrupter
consisting of a light-emitting diode and a Actuator's end
light-sensitive transistor. Each of them has
an actuator separately arranged as shown on
the next page.

Light-emitting  Light-sensitive
diode transistor

3-10



Toner thermistor (on back of the toner sensor PCB)
Toner sensor

(Main PCB)

Registration sensor actuator
Registration sensor

(Main-fan PCB)
Document front sensor actuator
Document front sensor

(Document sensor PCB)

Document tray open sensor

Scanner open sensor actuator
Scanner open sensor

Document rear sensor actuator

Document rear sensor (Control panel PCB)

Heater thermistor

Paper ejection sensor actuator
Paper ejection sensor

(Laser unit) (Eraser lamp board)

(Heat-fixing unit) )
(High-voltage power supply PCB)

L ocation of Sensorsand Actuators

3-11



3.3 CONTROL ELECTRONICS

3.3.1 Configuration

The hardware configuration of the facsimile machine is shown below.

Laser Unit

Laser diode

Heat-
fixing
Unit

5-pin ’ |
Centronics USB [ ' Polygon motor
parallel 5-pin Y
interface E
I
_ | Toner sensor PCB
E 4-pin (Toner sensor)
! (Toner thermistor)
. 13-pin High-voltage power
Main PCB [ — oy bep
(Paper ejection sensor) 4‘Eraser lamp (EL) board ‘
a 4-pin| Main-fan PCB ! [ E | I
(Registration sensor) I an | Heater thermistor |
oo
[ o T | Main motor |
2o
0 pin { Solenoid ‘ | Heater (FU) lamp |
RAM - ) ) ) ) i )
8M <+>|e>| ASIC
|: 7-pin| Low-voltage power
supply PCB E AC line
ROM [+ MODEM | p} 2P
FLASH .
IMASK <>
i Document tra
2- y
(NOTED) B open sensor
|:11—pin |_ _________________
4pin '|Document sensor PCB |
) pin | ‘
10-pin 1 (Document front sensor |
i and document rear sensor) !
[ - 4Pl ADF motor ———-—- |
[ ADF UNIT |
Relay ',::::::::::_:::::_|
PCB |lceD unit '
11 (CCD motor) |
(CCD HP sensor) (e =i
] SCANNER
7-pin_, |UNIT ]
Control panel PCB ASSY
(Scanner open sensor)
|:12'F’i” ——> Line
6-pin NCUPCB [——> External TEL
[(NOTE 2 —> Handset

Configuration of Facsimile Machine

(NOTE 1) Provided on models equipped with facsimile function.
(NOTE 2) Provided on the European, Pacific, and Asian versions.

3-12




CHAPTER 4

DISASSEMBLY/REASSEMBLY AND
LUBRICATION



CHAPTER 4 DISASSEMBLY/REASSEMBLY AND LUBRICATION

4.1

CONTENTS
DISASSEMBLY/REASSEMBLY ......ccoiimttiiiiiiisssssreeessssssssssssssesssssssssssssssssssssssssnsssnssnnnns 41
B Safety PreCautionNS ... ... 4-1
Tightening Torque LiSt........ooviiiiiiiieeeee e 4-2
L =T o T = 4o o OSSR 4-4
B How to Access the Object COMPONENT.........c..uvviiiii i 4-4
B DisassSembly Order FIOW ........oc.ueiiiiiii e 4-5
4.1.1 ADF Cover and Document Guide Base ..........cccccueeiiiiiiiiiiiiieiiccec e 4-6
4.1.2 ADF Components on the Upper ADF Chute ..........oooiiiiiie e 4-7
4.1.3 ADF Components on the Lower ADF Chute .........cccccooiiiiiiiiiie e, 4-12
4.1.4 Document Tray Open Sensor and Document Stopper ........ccccceeiiiiiiieeeeennnnes 4-17
4.1.5 Scanner Unit and Control Panel ASSY (Together with Document Tray) ........... 4-18
4.1.6 Disassembly of the Control Panel ASSY ... 4-25
4.1.7 Disassembly of the Scanner Unit..........cccooviiiiiiiiiiiiie e 4-26
4.8 FrONt COVEN ...ttt 4-31
4.1.9  REIAY PCB ... .ot 4-32
4.1.10 SCANNET MOUNT ...ttt 4-33
4.1.11 Board Access Cover and Auto Sheet Feeder (ASF).......ccccovieeeieiiiiiiiiiiieee e, 4-34
4.1.12 Heat-fixing Unit, FU Lamp, and Paper Ejection Sensor Actuator....................... 4-40
4.1.13 Laser Unit and Toner Sensor PCB.........cccccviiiiiiiiiiiie e 4-42
O B = T T = O SRS 4-43
4.1.15 BOttom Plate.......cooiee 4-46
4.1.16 Low-voltage Power Supply PCB.........cooiiiiiiiiii e 4-47
4.1.17 High-voltage Power SUPPlY PCB..........ccoviiiiiiiiiicieeee et 4-48
4.1.18 Main-Fan PCB, Duct, and Fan ...........coooiiiiiiiiiiieeeeeeee e 4-49
4.1.19 Power SUPPIY ShIEId .....ccoiieiie e e e 4-50
41,20 SPEAKET ...ttt e e e e et e e e e e e e e e nanreneaaaaeeaans 4-51

I B 1= Y= T B L Y=Y U o S 4-52



4.2
4.3
4.4

4.1.22 PCB Support and NCU PCB ..o 4-54

4.1.23 Scanner Grounding Plate ...........oooiiiiiiiii 4-55
4.1.24 EL (Eraser Lamp) BOArd .........ccoiiiiiiiiiiiie ettt e e e e e e 4-56
4.1.25 Harness ROULING......eeiiiiiiiiiiiiie et 4-57
4.1.26 Cleaning of High-voltage Contacts and Grounding Contacts............cccccceeeenns 4-61
[0 = 2] [0 N I [ ] S 4-62
PERIODICAL REPLACEMENT PARTS ......coo i cerrrreesssscsssssers s ss s s sssssmnee s e s s s snssssmnnnnees 4-64

MTBF/MTTR .o s 4-65



4.1 DISASSEMBLY/REASSEMBLY

B Safety Precautions

To prevent the creation of secondary problems by mishandling, observe the following precautions
during maintenance work.

(1)
(2)

3)

(4)
()

(6)
(7)

(8)
(9)

Unplug the power cord from the power outlet before replacing parts or units. When having
access to the power supply, be sure to unplug the power cord from the power outlet.

When servicing the optical system of the laser printing unit, be careful not to place
screwdrivers or other reflective objects in the path of the laser beam. Be sure to take off any
personal accessories such as wrist watches and rings before working on the printer. A
reflected beam, though invisible, can permanently damage your eyes.

If the machine has been printing, alow the heat-fixing unit sufficient time to cool down before
starting maintenance jobs. It isHOT!

Be careful not to lose screws, washers, or other parts removed for parts replacement.

Do not remove gears from the document feed roller ASSY or gection roller ASSY if at all
possible. Once removed, they will become unusable and new gears will have to be put back in.

When using soldering irons and other heat-generating tools, take care not to damage the resin
parts such as wires, PCBs, and covers.

Before handling the PCBs, touch a metal portion of the machine to discharge static electricity;
otherwise, the electronic parts may be damaged due to the electricity charged in your body.

When transporting PCBs, be sure to wrap them in conductive sheets such as aluminum foil.
Be sure to reinsert self-tapping screws correctly, if removed.

(10) Tighten screwsto the torque values listed on the next page.
(11) When connecting or disconnecting cable connectors, hold the connector bodies not the cables.

If the connector has alock, always slide the connector lock to unlock it.

(12) Before reassembly, apply the specified lubricant to the specified points. (Refer to Subsection

4.2 in this chapter.)

(13) After repairs, check not only the repaired portion but also that the connectors and other related

portions function properly before operation checks.

4-1



Tightening Torque List

Location Screw type Qty Tightening torque
Nem (kgfecm)
ADF thickness adjuster Taptite, pan B M3x6 1 0.39+0.10 (4+1)
Upper ADF chute Taptite, cup B M3x10 2 0.69 £0.10 (7 £1)
Lower ADF chute Taptite, cup B M3x10 2 0.69 £0.10 (7 £1)
Grounding wire Taptite, cup B M3x10 1 0.69 £0.10 (7 £1)
ADF drive unit Taptite, cup B M3x8 2 0.69+0.10 (7 £1)
ADF motor Screw, pan (§/p washer) M3x6 1 0.69 +0.10 (7+1)
Grounding wire on the scanner mount ~ Taptite, cup B M3x10 1 0.39+0.10 (4+1)
Document tray Taptite, bind B M4x12 2 0.98 £0.20 (10£2)
Hinge base R Taptite, cup B M3x10 3 0.69+0.10 (7 1)
Hinge L Taptite, cup B M3x10 3 0.69 £0.10 (7 £1)
Control panel ASSY Taptite, cup B M3x12 6 0.39+0.10 (4+1)
Scanner open sensor PCB Taptite, cup B M3x8 1 0.3910.10 (4+£1)
Reinforcement plate Taptite, cup B M3x6 7 0.39+0.10 (4+1)
Control panel PCB Taptite, cup B M3x6 2 0.39+0.10 (4+1)
Scanner top cover Taptite, cup B M4x12 4 0.98 £0.20 (10 +2)
Guide plate Taptite, cup B M3x8 3 0.69 £0.10 (7 £1)
CCD HP sensor plate Taptite, cup B M3x8 1 0.69+0.10 (7 1)
Flat cable clamp Taptite, cup B M3x8 2 0.69 £0.10 (7 £1)
Front cover guides Taptite, cup B M3x10 2 0.69+0.10 (7 +1)
Relay PCB Taptite, cup B M3x10 2 0.39+0.10 (4+£1)
Scanner mount Taptite, bind B M4x12 2 0.98 +0.20 (10x2)
Board access cover Taptite, bind B M4x12 2 0.78 £0.10 (8+1)
Release lever Taptite, bind B M4x10 1 0.98 +0.20 (10 £2)
Grounding leaf spring R Taptite, bind B M2.6x8 1 0.3910.10 (4+1)
Grounding leaf spring L Taptite, bind B M2.6x8 2 0.39+0.10 (4£1)
Heat-fixing unit Taptite, cup B M4x16 2 0.98 £0.20 (10£2)
Fixing unit upper cover Taptite, bind B M3x12 2 0.69+0.20 (7£2)
Lock plate Taptite, pan B M3x10 1 0.69 £0.20 (7£2)
Fuse plate R Screw, pan (washer) M2.6x6DA 1 0.39+0.10 (4+1)
Laser unit Taptite, bind B M4x12 3 0.98 +0.20 (10+2)
Main shield Taptite, cup SM3x6 2 0.69 £0.20 (7£2)
Paralldl interface connector Taptite, pan SM3x12 2 0.69 £0.20 (72
Main PCB Taptite, cup SM3x6 2 0.69+0.20 (7£2)
Bottom plate Taptite, bind B M4x12 5 0.98 £0.20 (10£2)
Taptite, cup SM3x6 4 0. 69 +0.20 (7£2)

4-2



Low-voltage power supply PCB Taptite, cup S M3x6 2 0.69 +0.20 (7 +£2)
(Low-voltage insulator sheet)

Grounding wire Screw, pan (washer) M4x8DB 1 0.39 £0.20 (4+£2)
Power inlet support Taptite, cup SM3x6 1 0.69 +0.20 (7+2)
High-voltage power supply PCB Taptite, bind B M4x12 1 0.98 £0.20 (10£2)
Duct Taptite, bind B M4x12 2 0.98 £0.20 (10£2)
Fan support Taptite, cup B M3x8 1 0.49+0.20 (52
Power supply shield Taptite, cup S M3x6 2 0.69 +0.20 (7+2)
Gear drive unit Taptite, bind B M4x14 4 0.98+0.20 (10£2)
Main motor Taptite, cup SM3x6 2 0.69 +0.20 (7£2)
Gear support plate Taptite, cup SM3x16 2 0.69+0.20 (7£2)
PCB support Taptite, bind B M4x12 2 0.98+0.20 (10+2)
NCU shield Taptite, cup SM3x6 2 0. 69 +£0.20 (7 £2)
NCU PCB Taptite, cup S M3x6 1 0.69 +0.20 (7 +£2)
Scanner grounding plate Taptite, cup B M3x8 1 0.49+0.20 (52

4-3



Preparation

Prior to proceeding to the disassembly procedure,

(1) Unplug

- the modular jack of the telephone line (only for models equi pped with the fax function),
the power cord,
- the modular jack of the curled cord (and remove the handset),
- the PC interface cable (parallel cable or USB cable) if connected (Not shown below), and
- the modular jack of an external telephone set if connected (Not shown below).

(2) Remove

- the paper support,
- the paper tray, and
- the drum unit (with the toner cartridge loaded)

Drum unit
(with toner cartridge loaded)

Power cord

Telephone line cord

(Only for models
w/ fax function)

Paper tray

How to Access the Object Component

» On the next page is a disassembly order flow which helps you access the object components. To
remove the gear drive unit, for example, first find it on the flow and learn its number ( in

this case). Y ou need to remove parts numbered , , , , , , and S0 asto

access the gear drive unit.

» Unless otherwise specified, the disassembled parts or components should be reassembled in the
reverse order of removal.

4-4



B Disassembly Order Flow

“JojsiwIay} Jejesy € sijun Buixy-iesy euj uo (2 ILON|
*JOJSIWIBY) JOUO) PUE JOSUSS JBUO] B aIB g0 d JOSUaS Jauo) au} uQ (9 310N,
“Josuas uonelsifal e s g0d uej-uiew ayy uO (S 310N

)
)
)
“Josuas uoljoafe saded e s| g0d Alddns Jemod sbejjoa-ubiy ayy uo (¥ ILON)

*JOSUDS IES1 JUSLUNDOP PUE I0SUSS JUOL JUSLUNOOP BJ8 4V BU) Ul §Od JOSUSS JuBwNoop sy} uQ (€ J1LON)

(

(
*JOSUSS usdo Jauueds e S| ASSY g0d I9ued [0Ju09 8y uQ (z ILON)
JOSUSS dH 09OD B S Hun 90 8y uQ (1 LON)

piousjog -
JojoW Ulej -
UN BALIP JED)

pleoq 3

ajeld
Buipunousb seuuesg

J0jenjoe J0suss
uonoafe Jjadeq

AN

1| ] (9. 3LON)

g0d NON

€0d Josuss Jsuol
Jun JaseT

dwe| n4-
Jun Buixy-1eaH

(23LON)

woddns

£6)
sJajjos yould -
19|01 pasy Jaded -
_ Jojenioe
plelus Josuas uonensibay -
_ uey -~ _ Aiddns somog b ASSV ped _._o_mm._mmww R
Jajjol ul-|nd seded -
CEICI | (v 3LON) o oo -
ona a0d Alddns Jamod a90d Alddns Jjemod 1oAS| 9SEIIBY -

_ g0d uej-ue _ obejjon-mo abeyjoa-ybiH Joeads 80d

- _

L _ o'l

lojow 4av _ _

$19]]0J Yould

Jeq ainssaud Juswnosoq

SINYo 4AV JomoT

(¢ 3LON)

JI8]jo4 uonosfe Juswnooq
sdijo apinb juswnooq

g0d 10suss jJuswndoq
$10jenjoe JOSUaSs juswnaog

|INyd 4QV Jomo|

askeq apinb juswinooq

19A00 JAY
3

'Y

3y} uo sjusuodwos Jav g

_ ajeld wopog

JBA0D SS8008 pleog

Ll

sapInb 1aA0D Juoi4
(Joyenyoe Josuss uado Jsuueds)
J3A0D Juoi4

(]

s.9]|01 aINSS3Ig

J9)snipe sseuxoly) 4aY
_ |y 4av 4addn _ Jun Jagqgni ucneledsg

JajjoJ Pas) JusWwNooq _ _ ASSY Jajjo1 uoneledsg _

1800 18

a)nyo 4Qgy Jeddn

19A00 do) Jouedg @

Josuass uado sabuiy
(zA1L0N) Joddoys Juswinoog Aenuswnoog [ Aenjuswnoog
o b1 6L
ao-
fox Odd -

g0d Josuss uado
JIBuueDs Yim g0d [oued [ojuog -

_ ay) uo spusuodwod 4ay C

ASSY |aued joguod g

A} JUBLINOOP YUM JIUN JOUUBDS

———— _

_ 1900 g0d Aejey A _ sBupds Jauueog

]

4-5



4.1.1 ADF Cover and Document Guide Base

(1) Open the ADF cover, pressits front end to release the boss, and take it off (in the direction of
arrows ®, @, and ®).

ADF cover —7

Stopper tab

. 'd
Inside of the ADF cover —

/Correct Wrong |

Setting the ADF cover back into place

N

(2) Releasethe two latches of the document guide base and slide it up straight along the guides.

NOTE: Do not turn it to the left. Doing so will break the groove sections of the document
guide base.

Document guide base

Groove

Latches

' e /®X Guides
ADF & document ] 'A\%\;‘} <///

N
tray ASSY LA NS

W7 o

B Reassembling Notes

* When setting the ADF cover back into place, fit its bottom edge under the stopper tabs as
illustrated above.

4-6



4.1.2 ADF Components on the Upper ADF Chute
Gear cover

(1) Asillustrated below, insert the tip of aflat screwdriver into the slot and lift up the right edge
of the gear cover (arrow M) and move the gear cover to the front (arrow @).

Flat screwdriver _ Gear cover

4-7



Separation roller ASSY and document feed roller

(2) From the rear end of each of the separation roller ASSY and document feed roller, remove the
plastic retaining ring. Lift up the rear ends of them and take them out together with bushings
S.

NOTE: Take care not to drop bushings S.

|
W Separation roller ASSY

Document feed roller

Plastic retaining rings

ADF drive unit

ADF & document tray
ASSY

Separation
roller

Bushings

ADF drive unit \
\
Upper ADF chute

Separation
roller shaft

Plastic retaining rings Document feed
roller shaft

Fitting the bushings into the cutouts provided Spring plate  \yhen setting the separation roller,
in the ADF drive unit and setting the plastic take care not to apply force to the
retaining rings inside the upper ADF chute spring plate at an angle

4-8



Reassembling Note: If you have disassembled the separation roller ASSY, set the separation
roller on its shaft with the boss facing towards the pin and then snap the plastic retaining ring
into place, asillustrated below.

Separation roller gear

/ Bushing
Separation roller

\
Plastic retaining ring
¢

Boss

Separation roller shaft

Reassembling Note: When setting the separation roller ASSY, take care not to apply force to
the spring plate at an angle, asillustrated on the previous page.

Reassembling Note: After setting the rear end of the separation roller ASSY or document
feed roller to the ADF drive unit, fit its bushing into the cutout provided in the ADF drive unit
and then set the plastic retaining ring inside the upper ADF chute, as illustrated on the

previous page.

Separ ation rubber unit, ADF thickness adjuster, and pressurerollers

(3) Turn the separation rubber unit as shown below and lift it up.

Separation rubber unit

Upper ADF chute

(Rear)

/ D,
§ N -t

4-9



(4) Remove the screw and take the ADF thickness adjuster out of the upper ADF chute.

NOTE: The ADF thickness adjuster is lubricated with grease, so take care not to smear
surrounding parts with the grease when handing the ADF thickness adjuster.

(5) At either end of the pressure roller shaft, press the latch to the right and take out the pressure
rollers and their shaft. Then remove their springs.

Taptite, pan B M3x6

\[’%
Upper ADF chute \)j/,, ADF thickness adjuster

© /
, Lubricated with grease

Pressure roller:
Pressure roller shaft

Pressure roller
springs

~

Correct position
of the boss

ADF thickness adjuster

Wrong position: . When setting the ADF thickness adjuster,
Boss placed on the guide 45"t put the boss provided on the underside

of the adjuster on the guide.

4-10



Upper ADF chute

(6) Remove the two screws from the upper ADF chute.

(7) Open the document tray (D).

(8) From the underside of the document tray, release the two leftmost latches (@) and then pull
up the left end of the upper ADF chute (®).

Taptite, cup B M3x10

Upper ADF chute

Latches

AN

ey
A7

RSO\

PN

Za\ e WA
AN
XY

Document tray

Latches
/

Latching the upper ADF chute (Viewed from "Y")

Reassembling Note: When latching the upper ADF chute, first fit tabs (1) of the right end
into the openings provided in the document tray, then press latches (2), (3), and (4) into place
in this order as shown above.

4-11



4.1.3 ADF Components on the Lower ADF Chute

Document front and rear sensor actuators

(1) Lift up the document front sensor actuator. Fully turn the document rear sensor actuator
counterclockwise, then lift it up.

Document front sensor actuator
Document rear sensor actuator

Lower ADF chute

Document sensor PCB

(2) Take the document sensor harness out of the cable hooks, then disconnect it from the
document sensor PCB.

(3) Pressthelocking pawl to the front and take out the document sensor PCB.

Document front sensor
Document sensor PCB

Document sensor harness

Lower ADF chute

Cable hooks



Document guide clips

(4) Press the tab of each document guide clip. Each clip will snap out of the document gjection
roller shaft.

Document guide clip

Lower ADF chute

Document €jection roller

(5) Remove the pawled bushing from the front end of the document gjection roller shaft by
pulling its pawls outwards.

(6) Slidethe rear bushing to the rear and then lift up the document ejection roller.

Document ejection roller

ADF drive unit

Pawled bushing

Lower ADF chute



Reassembling Note: When fitting the rear bushing of the document gection roller into the
cutout of the ADF drive unit, orient the boss as illustrated on the previous page.

Document pressur e bar

(7) Openthe ADF & document tray ASSY .

(8) Pull either of the front and rear supports of the document pressure bar outwards and remove
the document pressure bar. The spring also comes off.

Document pressure bar Spring

/ Setting the spring (Viewed from "X")

/

Supports

ADF & document tray ASSY.

Document pressure bar

Spring

Reassembling Note: After setting the document pressure bar, check in the direction of arrow
"X" that the spring isinto place asillustrated above.

4-14



L ower ADF chute, pinch rollers, and ADF motor

(9) Take the document sensor harness out of cable hooks provided on the lower ADF chute.

(10) Disconnect the ADF motor harness from the motor, then take its harness out of the cable
guides and hooks.

(11) Release the grounding wire from the ADF drive unit by removing the screw.
(12) Remove the two screws from the lower ADF chute.

(13) Lift up the lower ADF chute in the direction of the arrow shown below, taking care not to
touch the anti-static brush.

(14) Pressthe latch to the left and remove the pinch rollers and its shaft.

When reinstalling the lower ADF chute,
turn the planet gear counterclockwise
(when viewed from the rear)

ADF drive unit

Grounding wire

Lower ADF chute

/ Anti-static brush (Do not touch this.)
Pinch roller shaft

% Pinch rollers
€

i

inch roller spring

ADF motor harness \\

Taptite, cup B M3x10 N

2z

Grounding wire

Document sensor harness




(15) Remove the two screws from the ADF drive unit and release the ADF motor.

NOTE: When using a screwdriver, take care not to scratch or damage gears on the ADF drive
unit.

ADF drive unit

ADF motor

Lower ADF chute

Reassembling Note: When setting the ADF motor, hook the non-screw side of the flange on
section "x" (shown above) and secure it with the screw.

Reassembling Note: Before reinstalling the lower ADF chute to the document tray, be sure to
turn the planet gear on the ADF drive unit counterclockwise when viewed from the rear, as
illustrated on the previous page.

Reassembling Note: For routing the ADF motor harness, document sensor harness, and
grounding wire, refer to Subsection 4.1.25, "Harness routing A." Secure the grounding wire at
the angle shown on the previous page and let it hold down the ADF motor harness and
document sensor harness as shown in "Harness routing A."

4-16



4.1.4 Document Tray Open Sensor and Document Stopper

(1) Disconnect the document tray open sensor harness from the sensor.

(2) Open the document tray.

(3) Press the right and left latches of the document tray open sensor with the tip of a flat
screwdriver as shown below and push it down.

Document tray

Document tray open sensor

(4) Slightly open the document stopper and remove it while warping it.

~ @ Document stopper
’)\/
X

Document tray @

4-17



4.1.5 Scanner Unit and Control Panel ASSY (Together with Document Tray)

(1) Pull the scanner open lever and open the scanner unit.

(2) Unhook the two scanner springs. (The right-hand scanner spring is shorter than the left-hand
one.)

Document tray

Scanner springs

Scanner mount

Opening provided in the
scanner mount

Scanner spring

Hooking the scanner spring onto

the scanner mount and front cover

Opening provided
in the front cover

4-18



(3) At each of the right and left rear edges of the front cover, push up the lock of the front cover
connector (in the direction of arrow @) and press the rear edge of the front cover inwards
(arrow @) to release its boss from the front cover connector.

Scanner unit

Front cover

Front cover connector

Releasing the front cover from the
front cover connector secured to
the underside of the scanner unit Lock

Boss

(4) While keeping the scanner unit open, unlatch the relay PCB cover and take it out.

Cutout

Relay PCB cover

Latch

4-19



CCD flat cable

(5) While keeping the scanner unit open (in the direction of arrow @), disconnect the CCD flat
cable (arrow @) from the relay PCB.

NOTE: Handlethe CCD flat cable with care.

(6) Open the scanner unit further and lift up its rear edge to disengage it from the scanner mount.

Then shift the scanner unit to the front right as shown below (arrow ®) so that the relay PCB
can be fully seen.

CAUTION: When putting the scanner unit on the scanner mount, take specia care not to
bend, wrinkle, or scratch the CCD flat cable or not to break the boss of the front cover (that is
provided for the scanner open sensor actuator) by the bottom of the scanner unit.

Scanner unit

Scanner unit

Q @
—
— N
> Boss (provided for the
) scanner open sensor
actuator)
Front cover

Be careful with the boss of
the front cover

CCD flat cable

4-20



(7) Disconnect the following harnesses from the relay PCB:

- Document tray open sensor harness
- Document sensor harness

- ADF motor harness

- Panel harness

(8) Release the grounding wire (coming from the ADF drive unit) by removing the screw.
(9) Lift up the scanner unit together with the document tray and control panel ASSY.

Scanner unit

Document sensor harness

Document tray open
sensor harness

Cable clip

Relay (CCD/SEN) harness

Grounding wire
(From the ADF drive unit)

ADF motor harness

Relay (ADF) harness

Relay (CCD/PANEL) harness

Relay PCB

4-21



(10) Remove the two screws from the bottom rear of the hinges.

(11) Be sure to open the document tray, then release the harnesses (bound and covered with the
cable sheath) from the latch and move them to the front in the opening.

(12) Lift up the document tray.

Latch Releasing the harnesses bound

Cable sheath
Cable guide

Cable sheath

Cable binder
Taptite, bind
M4x12

Panel harness

\ ADF motor harness
Document sensor harness

Document tray open sensor harness

(13) From the hinge base R, remove the hinge arm as shown below. Remove the three screws and
release the hinge base R.

(14) From the hinge L that should be kept opened, remove the three screws.

Hinge base R

TQ;’\’ Taptite, cup B M3x10

D

ﬁ\» Hinge arm

4-22



(15) Remove the six screws from the underside of the scanner base.
(16) Release the two latches of the control panel ASSY from the scanner base.

(17) Slightly lift up the control panel ASSY and disconnect the panel harness from the control
panel PCB.

(18) Turn the scanner open sensor actuator as shown below and removeit.

(19) Remove the screw from the scanner open sensor PCB. Then the control panel ASSY is
separated from the scanner unit.

(For the disassembly procedure of the control panel ASSY and scanner unit, refer to
Subsections 4.1.6 and 4.1.7, respectively.)

(20) Remove the lever spring.

(21) Insert thetip of aflat screwdriver into dlit "s," push up the lock, and remove the scanner open
lever in the direction of the arrow.

/\ Latch
Control panel ASSY < /
L o7

Scanner open sensor PCB

spring 1 / Scanner open sensor

actuator
>

Taptite, cup B M3x12

Scanner open lever
Panel harness

Scanner base

4-23



B Reassembling Notes

* When setting the document tray on the scanner unit, pass the bound harnesses (ADF motor
harness, document sensor harness, document tray open sensor harness, and grounding wire)
through the front section of the opening provided in the left rear corner of the document tray,
with its bound section facing up (see the illustration given on page 4-22).

Move those bound harnesses to the rear section of the opening. Route the bound section through
the cable guide so that the cable binder comes into contact with the cable guide asillustrated on
page 4-22. Refer to Subsection 4.1.25 "Harness routing A."

» When putting the scanner unit on the scanner mount, take special care not to bend, wrinkle, or
scratch the CCD flat cable or not to break the boss of the front cover by the bottom of the
scanner unit. (See theillustration given on page 4-20.)

» Route the document sensor harness, document tray open sensor harness, ADF motor harness,
panel harness, and grounding wire on the scanner mount as shown on page 4-21. Wind the
document sensor harness and document tray open sensor harness around the cable clip on the
relay PCB, and then bend the cable clip as shown in Subsection 4.1.25, "Harness routing B."

4-24



4.1.6 Disassembly of the Control Panel ASSY

(1) Remove the two screws from the control panel PCB.

(2) Slightly lift up the control panel PCB, then unlock the FPC key connector and disconnect the
FPC key. Next, unlock the LCD cable connector and disconnect the LCD flat cable.

(3) Remove the seven screws and take off the reinforcement plate and FPC key.

Control panel

Control panel PCB

Taptite, cup B M3x6

(4) Asshown below, pull the lock arms outwards to release the LCD and pull the LCD flat cable
gently.

Lock arm

B Reassembling Notes

» Before reinstalling the LCD to the control panel, wipe fingerprints or dust off the LCD surface
and control panel window with a soft cloth.

* A new LCD is covered with a protection sheet. Before installing it, remove the protection sheet.

4-25



4.1.7 Disassembly of the Scanner Unit

The disassembly job of the scanner unit should be done in a clean room to prevent dust or dirt
from getting into the scanner unit.

(1) Remove the four screws from the scanner top cover.
(2) Separate the scanner top cover from the scanner base.

| Scanner top cover

Taptite, cup B M4x12

Scanner base

Panel harness

4-26



(3) Releasethe CCD drive belt from boss "a."
(4) Attheleft front end of the CCD drive belt, unhook the belt spring from boss "b."
NOTE: Do not remove the belt spring or belt clip from the CCD drive belt.

(5) Asillustrated below, move the CCD unit to the right, lift up its front end and turn the CCD
unit upright. The CCD drive belt will dip off the CCD idle pulley and gear on the underside of

the CCD unit.

Right rear end of the CCD drive belt

The end of the belt
should come within
this range.

CCD drive belt

Routing the CCD drive belt on
the underside of the CCD unit

Underside of the
CCD unit turned
upright

CCD unit
turned upright

Toothed side
facing outwards

Scanner base

Boss "b"

Left front end of the CCD drive belt

4-27



(6) Disconnect the CCD flat cable from the CCD PCB, then release the cable that is attached to
the underside of the CCD unit with double-sided adhesive tape.

NOTE: Only when the CCD unit or CCD flat cable is defective and requires replacement,
release the flat cable. Once released, the flat cable should be attached using new double-sided
adhesive tape.

(7) Lift up the CCD rail together with the CCD unit from the scanner base, then pull out the CCD
rail.

NOTE: When handling the CCD unit, do not touch the CCD PCB or glasses but hold the
hatched sections as shown on the next page.

CCD
CCD unit protector

Clip r%‘k—l Clip
fn=wl

To be
butted

To be
butted

|« To be butted to
either side

CCD flat cable attached to the
underside of the CCD unit with
double-sided adhesive tape

/ Double-sided adhesive tape

Underside of the CCD unit

CCD HP
sensor

Scanner base

Panel harness

CCD flat cable Double-sided adhesive tape

4-28



These hatched sections are
allowed to touch.

(8) Remove the three screws and lift up the guide plate.
(9) Remove the screw from the CCD HP sensor plate.

Taptite, cup B M3x8
\§

Guide plate

Flat cable clamp

/ CCD HP sensor plate
Panel harness

4-29



(10) Remove the two screws and take off the flat cable clamp.

(11) Totake out the panel harness, remove sponges F and R that are backed with adhesive tape.
NOTE: Once removed, those sponges will become unusable and new parts will have to be put
back in.

(12) Totake out the CCD flat cable, remove sponge R.

CCD flat cable and panel harness secured to the scanner base

\

Panel harne< Double-sided adhesive tape

VAN -'s!

/ - CCD flat cable

il

210 mm

/\@? |

\ Ferrite core

_/

Taptite,
Flat cable clamp cup B M3x8

? CCD flat cable
Sponge R [ ? N
(backed with adhesive tape) %

Scanner base

Sponge F (backed with adhesive tape) Panel harness

B Reassembling Notes

* When replacing the CCD unit with a new one, you need to attach a CCD protector to it as
specified on page 4-28. A new CCD protector is covered with a protection sheet, so remove the
protection sheet before attaching.

* When using a new CCD flat cable, fold it and secure it to the scanner base with double-sided
adhesive tape and sponge R (backed with adhesive tape) asillustrated above.

Then attach it to the underside of the CCD unit with double-sided adhesive tape.

» When reassembling the components inside the scanner unit, use screws (Taptite, cup B M3x8).
Never use longer ones (e.g., M3x10). Using longer ones will bore aholein the scanner base.

* When ingtalling the CCD drive belt to the scanner base, set its rear end within the range
specified on page 4-27.

4-30



4.1.8 Front Cover
(1) Pressthe rear ends of the front cover inwards (in the direction of arrow @) to release bosses
"a" from the front cover guides.
(2) Remove the screw from each of the front cover guides.

(3) While pulling the tab of each front cover guide up and to the front (in the direction of arrow
@) to release the guide from boss "b," remove the guide in the direction of arrow ®.

‘ L Front cover guide

e
Front cover @ [ %,\&/

Taptite cup B,
M3x10

Front cover guide

Scanner mount

Boss "b"

HXH
HYH

Front cover guide

B Reassembling Notes

» When setting the front cover guides back into place, fit sections"y" and "X" into "Y" and "X" of
the scanner mount, respectively, while pushing the guides down and to the front.

4-31



4.1.9 Relay PCB

(1) Disconnect the three relay harnesses from the relay PCB.
(2) Remove thetwo screws. The cable clip will come off and the grounding wire will be released.
(3) Liftuptherelay PCB.

Relay (CCD/SEN) harness

Grouding wire
(To the main PCB)

Taptite, cup B M3x10

Cable clip

Relay PCB

Relay (ADF) harness

Scanner mount

Relay (CCD/PANEL) harness

4-32



4.1.10 Scanner Mount

(1) Remove the harness cover.
NOTE: Once removed, the harness cover will become unusable and a new part will have to
be put back in.

(2) Removetherelay (ADF) harness from seven latches and then bring it to the right.

) Harness cover
Adhesive tape

7 latches

Relay (CCD/SEN)

harness Area where the harness cover

should be attached
Relay (CCD/PANEL)
harness

Grouding wire
(To the main PCB)

(3) Remove the two screws from the scanner mount
(4) Remove the scanner mount in the direction of the arrows.

Relay (ADF) harness

Relay (CCD/SEN) %‘h

harness

Relay (CCD/PANEL)
harness

Grounding wire
Cable guide

Scanner mount

Main cover

B Reassembling Notes

* Route the relay (ADF) harness through seven latches on the scanner mount. Refer to Subsection
4.1.25, "Harness routing C."

4-33



4.1.11 Board Access Cover and Auto Sheet Feeder (ASF)
(1) Remove the two screws from the board access cover. (Those screws secure also the ASF to
the main cover.)

(2) Push down the top of the board access cover to release the two latches from the main cover,
then pull it to the rear.

(3) Pull the ASF to the front and then lift it up.

Board access cover

Latches

Taptite, bind B
M4x12

Main cover

4-34



[Disassembling the ASF]
1) Unhook the release lever spring.
2) Remove screw "a' and pull out the release lever.
3) Turn the release cam to the front and pull it out to the left.

Setting the release lever

Boss

Release lever spring

(To be placed in
front of the boss)

Release lever
ASF

& Taptite, bind B
M4x10

Release cam

4-35



4) At the right end of the ASF, remove the screw from the grounding leaf spring R. (It is not
necessary to remove the leaf spring.) Next pull out the pawled bushing R.

At the left end of the ASF, remove the sector gear and its spring. Unlatch the pawled bushing

L to the left and then remove it from the paper pull-in roller shaft. Remove the paper pull-in
roller.

Hooking the sector gear spring

Sector gear spring

ASF

Pawled bushing R

9’? Taptite, bind B M2.6x8
- Grounding leaf spring R

Sector gear spring

Sector gear

Paper pull-in roller

bushing L D-shaped end

5) Push the right and left ends of the separation pad ASSY inwards and take it out. The spring
also comes off.

Separation pad ASSY

Spring

4-36



6) Turn the ASF upside down, then remove the registration sensor actuator.

Registration sensor
actuator

Viewed from the bottom

4-37



7) There are two sets of pinch roller units. At each set, remove the leaf spring (in the order of ®
to ® shown below), pinch rollers, and pinch roller shaft.

8) At the right end of the paper feed roller, remove the screw and take off the grounding leaf
spring R if you have not removed it in step 4) above.

Remove the pawled pushing R.

9) At the left end of the paper feed roller, remove two screws and take off the grounding leaf
spring L, pawled PF gear, and idle gear.

Then remove the paper feed roller.

ASF

Grounding leaf spring R

{ o Taptite, bind B M2.6x8

Pawled bushing R

e
P
>%@ \X%Q\\ Pinch roller

Leaf spring

Idle gear

Grounding
leaf spring L

0

N\
Taptite, bind B :d
M2.6x8 Pinch roller shaft

Pinch roller

Pawled PF gear
D-shaped end

Paper feed roller

Chute ASSY
e Leaf spring

Pinch roller shaft

Pinch roller

Removing the leaf spring from the pinch roller shaft

4-38



10) Press the lock arm provided at the left inside of the ASF to the rear with a screwdriver, slide
the ASF chute ASSY to theleft, and take it out to the front.

NOTE: To replace only the black film attached to the chute, do not remove the chute ASSY
from the ASF.

NOTE: A new chute and black film will be provided separately. When replacing the ASF
chute ASSY, first set the chute into the ASF and then attach the black film to the chute. If you
first attach the black film to the chute and then set the ASF chute ASSY, then the black film
may be bent or wrinkled.

Black film

ASF

ASF chute ASSY

Double-sided tape
p t

P
\A//}VIA/./\\ Black film

B Reassembling Notes

» Set the paper feed roller into the ASF with the D-shaped end facing leftwards.
 Set the paper pull-in roller into the ASF with the D-shaped end facing leftwards.

» When setting the release lever back into place, turn the release cam to the rear and then set the
release lever so that the bottom end of the release lever comes in the front of the boss provided
on the ASF, asillustrated on page 4-35.

4-39



4.1.12 Heat-fixing Unit, FU Lamp, and Paper Ejection Sensor Actuator

(1) Remove the two screws from the heat-fixing unit.

(2) Lift up the heat-fixing unit and disconnect the blue and brown heater wires (of the heater
harness) from the heat-fixing unit. Then disconnect the heater thermistor harness from the EL
(eraser lamp) board.

(3) Remove the paper g ection sensor actuator from the bottom of the heat-fixing unit.

Taptite, cup B M4x16

Heat-fixing unit

D
L . ™~ Paper ejection
Relay (CCD/SEN) // @\ / | semsor actuator
harness . i g
e
P %
>
/\
_ 2 .
Grounding wire N L2 Brown heater wire
Relay (CCD/PANEL) Main cover
harness

EL (eraser lamp) board
Blue heater wire

4-40



(4) Totake out the FU lamp from the heat-fixing unit, remove two screws "a."
(5) Fully open the upper cover and removeit.

(6) Unlatch theidle gear 16 and removeit.

(7) Loosen screw "b."

(8) Remove screw "c¢" and take out the lock plate.

(9) Slightly lift up the left end of the heater roller and hold the left end of the FU lamp. While
pinching the fuse plate R with your right hand, pull out the FU lamp from the heater roller.

CAUTION: Do not touch the FU lamp. If you have touched it, clean it thoroughly with
alcohal.

Upper cover g

Taptite, bind B M3x12

Fuse plate R

llb”
Screw, pan (washer)
M2.6x6DA

@5 Heater roller

Idle gear 16

B Reassembling Notes

* When setting the FU lamp into the heat-fixing unit, be sure to insert the right edge of the wire
into the folded fuse plate R.

* A new heat-fixing unit will be provided with the heater thermistor harness being taped to the
unit. When installing the unit, remove the tape.

* Route the blue and brown heater wires on the main cover as illustrated in Subsection 4.1.25,
"Harness routing F."

4-41



4.1.13 Laser Unit and Toner Sensor PCB

(1) Disconnect the polygon motor flat cable, toner sensor harness, and laser diode harness from
the main PCB.

(2) Remove the three screws from the laser unit.
(3) Lift up thelaser unit.

NOTE: When handling the laser unit, take care not to touch the inside of the unit, glass, or
mirror.

NOTE: On the small PCB at the right side of the laser unit is a 2-pin connector which is for
the adjustment in the factory. Do not disturb it.

Taptite, bind B M4x12
Laser unit ? g

Toner sensor harness \/r
4,% ¢

Polygon motor flat cable

Laser diode harness

NN

AN\

L\}

&

Main cover

Main PCB

Polygon motor
] connector

N

Toner sensor
connector

Laser diode connector

B Reassembling Notes

» When replacing the laser unit with a new one, be sure to attach a ferrite core to the laser diode
harness of the new laser unit. Wind the harness around the ferrite core by two turns as shown
above, just like the laser diode harness of the old laser unit.

» On the underside of the laser unit, route the laser diode harness, polygon motor flat cable, and
toner sensor harness asillustrated in Subsection 4.1.25, "Harness routing G."

» Before putting the laser unit back into place, check for any toner particles, paper dust or dirt,
and clean them out.

» Make sure that the sponge is placed below the laser unit.
4-42



4.1.14 Main PCB

(1) Disconnect the following harnesses and flat cable from the main PCB:

* NCU harness

* Low-voltage power harness

» Main motor harness

» Relay (ADF) harness

» Relay (CCD/PANEL) harness
« High-voltage power flat cable
» Main-fan harness

* Solenoid harness

» Relay (CCD/SEN) harness

* Speaker harness

(2) Removetwo screws"a' from the main shield.
(3) Removetwo screws"b" from the parallel interface connector.

(4) Remove two screws "c" from the main PCB and then take it off from the PCB support. The
grounding wire will be released.

Grouding wire
(From the relay PCB)

i PCB support
Main cover
Relay (ADF) harness &l ) \ \ Low-voltage power harness
. %{7\1 XK - \Relay (CCD/SEN) harness
Main shie Sy \ﬁ” =/~ Relay (CCD/PANEL)
] S Ig/ harness
o 2 _~ NCU harness
< ]
Ha" _ 4'"/ /
() a BESSS
2 > -— 1 High-voltage power
" C,w/’\> : g s ] . flat cable
wbn (%o - \H\l .
1™ Main motor harness
Main PCB ' Speaker harness
Main-fan harness Solenoid harness
f Low-voltage power connector
NCU connector
\ Main motor
04 \ ——ch o connector
[ [ ]a© - Relay (ADF) connector
O =4
[ B2 e D/ Relay (CCD/PANEL)
B ] |_—_.,/|: connector
o= meg
] Ao Q [ I High-voltage
\ﬁ@ 52 \ power connector
Speaker connector \ "Main-fan connector
Solenoid connector
Relay (CCD/SEN)
connector

"a'and "c": Taptite, cup SM3x6
"b": Taptite, pan SM3x12



B Reassembling Notes
» Besureto route the harnesses and flat cable as illustrated in Subsection 4.1.25, "Harness routing
D'Il

Make sure that the main motor harness is routed closest to the main PCB and that the relay
(CCD/SEN) harnessis routed after other harnesses are connected.

Make sure that harnesses having ferrite cores are taped. In particular, the main motor harness
should be taped above and below the ferrite core.

« |If you replace the main PCB, be sure to follow the flowchart given on the next page.

4-44



Setting up the main PCB after replacement

Replaced with a new main PCB?

Flash ROM or masked ROM
on the new main PCB?

Flash ROM

N (Replaced with one used)

Install the update program onto
the flash ROM. (For details
about the installation procedure,
refer to CHAPTER 2.)

The "DOWNLOADING" is shown
on the LCD.

Y

Upon completion of the
installation, the facsimile
equipment initializes the
EEPROM while showing the
"PARAMETER INIT."

<

Masked ROM

Y

After completion of initialization,
the equipment returns to the
initial stage of the maintenance
mode.

Then perform the following:

- EEPROM customizing
[Function code: 74]

- CCD scanner area setting
[Function code: 55]
(Refer to CHAPTER 5,
Subsections 5.3.11 and
5.3.10)

Flash ROM or masked RO
on the new main PCB?

Flash ROM

Install the update program onto
the flash ROM. (For details
about the installation procedure,
refer to CHAPTER 2.)

The "DOWNLOADING" is shown
on the LCD.

\ 4

The "PLEASE WAIT" appears
on the LCD.

The calendar clock appears.

Masked ROM

i
«

A

Make the equipment enter the
maintenance mode and then
perform the following:

- EEPROM customizing
[Function code: 74]

- EEPROM parameter
initialization
[Function code: 01]

- CCD scanner area setting
[Function code: 55]
(Refer to CHAPTER 5,
Subsections 5.3.11, 5.3.1,
and 5.3.10.)

A4

Make the equipment exit from the maintenance
mode by pressing the 9 key twice. (Refer to
CHAPTER 5.)

The calendar clock appears.

v

Set an ID code. (Refer to CHAPTER 2.)

End



4.1.15 Bottom Plate

(1) Turn the machine upside down.
(2) Remove the nine screws (four "x" and five"y") from the bottom plate, then lift it up.

"%n ryn Bottom plate
! ? "X" ne n
e l@i%/\ ? ?
"x" % hd \! | Scanner grounding plate
\.

Main cover (placed upside down)

"X": Taptite, cup S M3x6
"y": Taptite, bind B M4x12

4-46



4.1.16 Low-voltage Power Supply PCB

(1)
)

3

(4)
(5)

Low-voltage power
supply PCB

Low-voltage
power harness

Remove screw "a" and take off the low-voltage insulator sheet.

Remove screws "c' and "d" to release the grounding wire and power inlet support,
respectively.

While pulling the right rear of the main cover (placed upside down) outwards to release the
ON/OFF switch, lift up the power inlet support.

For the new type of the power inlet support having an opening: Y ou need to cut off the binder
that fastens the blue and brown lead wires of the AC power cord to the power inlet support.

Remove screw "b."

Slightly lift up the low-voltage power supply PCB and disconnect the low-voltage power
harness and heater harness (of the blue and brown wires).

new type of the power
inlet support)

Low-voltage

insulator sheet . .
Grounding wire

Heater harness

Main cover
(placed upside down)

n.n

g

Opening provided in the
power supply shield

Hf'

Openings provided in the

power supply shield

"a" "b," and "d": Taptite, cup SM3x6
"¢ Screw, pan (washer) M4x8DB



Reassembling Notes

» Be sure to route the heater harness through U-shaped cutout "€" provided in the power supply
shield. Then, route the AC power cable through the same cutout "€" on the heater harness.
(Refer to Subsection 4.1.25, "Harness routing H."

* Fit the front tabs of the low-voltage power supply PCB into openings "f."
 Fit the front tab of the insulator sheet into opening "g."

» To prevent the blue and brown lead wires of the AC power cord from getting damaged by the
edge of the power inlet support or the end of screw "c," be sure to observe the following routing
instructions:

For the power inlet support having no opening
1) Route the grounding wire between the boss and the power supply shield as shown below.
2) Push down the ferrite cores of the AC lead wires and grounding wire.

3) Secure the grounding terminal to the power inlet support with screw "c" at an angle shown
below.

Push down these ferrite cores.

(Rear)

Secure the grounding
terminal at thisangle.

Route the grounding
wire between the boss
and the power supply
shield.

4-47-1



For the new type of the power inlet support having an opening

1) Route the AC lead wires (blue and brown) through the opening provided in the power inlet
support and pull them in the direction shown below to bring the ferrite cores closer to the

opening.
2) Fasten the AC lead wires to the power inlet support with a binder.

For machines without power switch

—

Power inlet

O support
/ IE \ 1 Power inlet
ol support
(=
A
View B
1 mm min.
Power inlet support
Pull the AC lead wires /

in this direction.

(.

Fasten the AC lead wires
with a binder.

View B

1 mm min.

3) Secure the grounding wire to the power inlet support with screw "c."

4-47-2



4.1.17 High-voltage Power Supply PCB

(1) Remove the screw and take off the high-voltage insulator sheet.

(2) Slightly lift up the high-voltage power supply PCB and disconnect the high-voltage power flat
cable and EL (eraser lamp) harness.

High-voltage insulator sheet

Taptite, bind B M4x12 /
y .
(&)
' / High-voltage power supply PCB

&)
"

igh-voltage power flat cable

i

Main cover (placed upside down)

Take care not to bend this
high-voltage contact.

B Reassembling Notes

» Fold the high-voltage power flat cable and route it asillustrated above.

» Before reinstalling the high-voltage power supply PCB, check the high-voltage contacts for any
toner particles, paper dust or dirt, and clean them out.

4-48



4.1.18 Main-Fan PCB, Duct, and Fan

(1) Take off the duct by removing the two screws.
(2) Unlatch the main-fan PCB and lift it up and out of the main cover.
(3) Disconnect the fan harness from the PCB.

(4) Take off the fan support by removing the screw.
(5) Liftupthefan.

Fan support

Taptite, cup B M3x8
Taptite, bind B M4xx@h
< |

Fan harness

Main-fan PCB

Main-fan harness

Main cover
(placed upside down)

Power supply shield
Main shield

B Reassembling Notes

» Route the fan harness on the fan asillustrated above.

» Put the fan back into place with the label side facing outwards and with its harness directed as
shown above.

4-49



4.1.19 Power Supply Shield

(1) Remove the two screws and lift up the power supply shield.

Taptite, cup S M3x6

" n

Power supply shield ‘ e

, / U-shaped cutout

Low-voltage power harness

Opening

> &,
Main motor harness

Solenoid harness \
\

I
Speaker harness —— [ ]

High-voltage
power flat cable

Main cover (placed upside down)

B Reassembling Notes

* When reinstalling the power supply shield, route the low-voltage power harness through the
opening and route the heater harness through U-shaped cutout "€" as shown above.

4-50



4.1.20 Speaker

(1) Pull the speaker spring inwards and pull up the speaker together with the spring.

Speaker spring

F R,
@f Speaker
N — p
i

Solenoid harness ’

Main motor harness

Main cover (placed upside down)

B Reassembling Notes
 Put the speaker into place with its harness facing up.

» Route the speaker harness through the latch together with the solenoid harness and main motor
harness as shown above.

4-51



4.1.21 Gear Drive Unit

(1) Make sure that the heat-fixing unit is removed.
(2) Take out the heater harness from the cable guides provided on the top of the gear drive unit.
(3) Remove the four screws and lift up the gear drive unit.

Gear drive unit

% Taptite, bind B M4x14
|

Main motor

Cables guides
harness

Setting the grounding plates and
routing the heater harness

Heater harness
(of brown and blue wires)

Heater harness

Contact plate

Grounding plate

Main motor

Main cover (placed upside down)

Gear drive unit

Taptite, cup S M3x6



(5) To take off the paper feed solenoid, solenoid lever, or clutch release lever, remove the two
screws.

Solenoid lever
Gear support plate

Solenoid / o ]
Friction spring
A\

spring
ib
ib

R
./
y ? >
release lever
/1>
End of the
R friction spring

Solenoid harness Pull-in roller drive gear

Intermediate gear 1 Planetary

Paper feed solenoid Clutch gear [ gear system

Gear drive unit
ear crtve um Taptite, cup S M3x16

B Reassembling Notes
« If the friction spring in the gear drive unit dlips off, fit the straight end of the spring in the
support hole of the gear drive unit asillustrated above.

* When putting the gear drive unit back into the main cover, route the solenoid harness and main
motor harness along the outside of the gear drive unit. Be sure to sandwich the grounding plate
between the contact plate and gear drive unit. See theillustration given on the previous page.

» After securing the gear drive unit, route the heater harness through the cable guides provided on
the top of the gear drive unit.

4-53



4.1.22 PCB Support and NCU PCB

(1) Remove the two screws and lift up the PCB support.

Taptite, bind B M4x12

¥
PCB support ﬁ
' / NCU harness

Main cover (placed upside down)

(2) Remove the two screws and take off the NCU shield.
(3) Remove the screw and take off the NCU PCB from the PCB support.
(4) Disconnect the NCU harness.

NCU harness

/ P L %
PCB support : ~ \

NCU PCB NCU shield

4-54



4.1.23 Scanner Grounding Plate

(1) Make sure that the heat-fixing unit is removed.

(2) Remove the screw from the scanner grounding plate. (If the bottom plate has not been
removed, remove screw "y" also (see page 4-46) that secures both the scanner grounding plate
and bottom plate.)

(3) Slightly lift up the scanner grounding plate.
(4) You may peel off the anti-static brush from the scanner grounding plate.

NOTE: Onceremoved, the anti-static brush will become unusable and a new one will have to
be put back in.

Taptite, cup B M3x8 Anti-static brush

?
Scanner grounding plate . |
\@fgl/’(‘?

Main cover

B Reassembling Notes

» Before attaching a new anti-static brush onto the scanner grounding plate, wipe the surface of
the attaching place with a cloth dampened with alcohoal.

* When reinstalling the scanner grounding plate, fit it over the two bosses of the main cover.

4-55



4.1.24 EL (Eraser Lamp) Board
Only when you need to replace the EL board (which is attached with double-sided adhesive tape),
remove it according to the steps below.

(1) Make sure that the EL harness is disconnected from the high-voltage power supply PCB.
(Refer to Subsection 4.1.17.)

(2) Make sure that the heat-fixing unit is removed.
(3) Ped off the EL board from the main cover and clear adhesive tape if remaining.

EL (eraser lamp) board

Attaching a new EL board

Main cover

B Reassembling Notes

» When attaching a new EL board, bring the right end into contact with the rib provided on the
main cover.

4-56



4.1.25 Harness Routing

Harnessrouting A: ADF motor harness, document sensor _harness, document tray open sensor _harness, and
grounding wire on the lower ADF chute

Cable hook Grounding wire
(provided on the ADF motor harness

document tray)

Bind G
(Binder) //\?
Cable guide
(provided on the \
document tray) )
L ’ - Document sensor
\ / 3 %\ harness
(Document tray) \ \\ > ‘ L K
\ / ‘ ©
(&

Cable hooks
(Left) (Lower ADF chute) (Document sensor PCB)

Cable guides
Cable hooks

Document tray open
sensor harness

Harnessrouting B: Relay PCB-related harnesses

(Rear)

Relay (CCD/SEN) harness ’—| I ‘ (Cable guide)

Document sensor harness

Document tray open sensor harness —___|

~
(Left) | Grounding wire
(To the main PCB)
(Cable clip) e
Grounding wire
(From the ADF drive unit) . — Scanner unit

(Relay PCB) é
(Scanner mount)

(Cable guide) |

| |__— ADF motor harness

Relay (ADF) harness —]

Relay (CCD/PANEL) harness ]|

Panel harness

4-57



Harnessrouting C: Relay (ADF) harness on the scanner mount

Harness cover

Scanner mount

R _[]
@7 A ;
Relay (ADF) harness 7 latches

(Top view)

Harnessrouting D: Main PCB-related harnesses

Relay (CCD/PANEL) harness
NCU harness ~ Low-voltage (Main PCB) \

Relay (ADF) h ower harness | Grouding wire

v ) hamess P (From the relay PCB)

(Tape) Main motor
harness

Relay (CCD/SEN) harness

Grouding wire
(From the relay PCB)

NCU harness

(Ferrite core)

= \ (Tape) (PCB support)
Polygon motor flat cable
High-voltage power flat cable

Relay (CCD/PANEL) harness/ // \ \ Speaker harness

Laser diode harness

Solenoid harness
Toner sensor harness

Main-fan harness

4-58



Harnessrouting E: Relay harnesses on the main cover (after the ASF is removed)

Relay (ADF) harness
Opening \
Z
Main cover / \ %
Cable guides \ N

Relay (CCD/SEN) harness

Grounding wire
e

=

Relay (CCD/PANEL) harness

Harnessrouting F: Heater harness on the main cover (after the heat-fixing unit is removed)

EL harness

(Main cover)
Blue heater wire Brown heater wire

~
Heater harness

4-59



Harnessrouting G: Laser diode harness, polygon motor flat cable, and toner sensor harness on the laser unit

(Laser unit)

Toner sensor harness

Laser diode harness

Polygon motor flat cable

4-60

Polygon motor flat cable

Laser diode harness



Harnessrouting H: Harnesses viewed from the bottom of the machine

(Power supply shield) AC power cable (which should route
on the heater harness)
. ' Low-voltage power harness Solenoid harness Heater b
Cover/registration sensor & fan harness (W?ﬁc?lrsh?)flrllgise supported by
(Cover/registration sensor PCB) \ Latch \ the looped grounding wire)

& | 1 Grounding wire
Cable guide
Speaker harness

(Speaker)

TR . — — . ] ) - = J’j’/w Power inlet support
ol 1 (See the figures given below.)
S O\ el
OW °® y:

|
=

iy .
— — I B
\ EL harness (Gear drive unit)
(Fan)

|

High-voltage power flat cable
(Main cover placed upside down)
Fan harness

For the power inlet support having no opening For the power inlet support having an opening

——

\

Power inlet support

Pull the AC lead wires
in this direction.

Fasten the AC lead wires
with a binder.

For the harness routing around the power inlet
support, see page 4-47-2.

4-60-1



4.1.26 Cleaning of High-voltage Contacts and Grounding Contacts

If any toner particles, paper dust or dirt are on the contacts, clean them out. This will ensure that
power flows correctly to enable printing.

Grounding contacts High-voltage contacts

@ For transfer roller

(7) For developer roller
@ For cleaner roller

@ For grid @ For corona wire

|/ Main cover
L

High-voltage
power supply PCB

Heat-fixing unit

4-61



4.2 LUBRICATION

Apply the specified lubricants to the lubrication points as shown below.

Lubricant amount

Lubricant type . ) . )
(Manufacturer) Rice-sized pinch | Half rice-sized pinch Thin coat of grease
of grease of grease with a brush
(3mmdia ball) (2 mmdia ball)
Molykote EM-D110
(Dow Corning)
Molykote PG662
(Dow Corning)
Molykote HP-300
(Dow Corning)
FLOIL 951-P32
(Kanto Kasel Ltd.)

[1]

Separation pad

Separation pad

4-62

(Apply thin coat of grease to these sections
with a brush where the separation pad is
to be mounted.)



[2] Separation roller ASSY and document feed roller

Separation roller ASSY

[ 3] ADF thickness adjuster

Upper ADF chute ;@9 /\
\ J ADF thickness adjuster
PG1
(Rear) \

2

Ny
.C RN

4-63



[4] Document ejection roller

[5] CCDrail inthe scanner unit

Apply ®D to 10 points on the CCD rail and move
the CCD unit to the right and left ends ofits travel.

NOTE: Keep the CCD drive belt and other parts
free from lubricant. \

4-63-1



Underside of the scanner unit

[6]

Apply thin coat of grease to these three

sections (BE4) with a brush.

Scanner unit placed upside down

4-63-2



4.3 PERIODICAL REPLACEMENT PARTS

Parts listed below require to be replaced periodically in order to assure the product quality. Even if
it seems that those parts are not damaged in appearance, replace them at regular intervals specified
below.

The replacement procedureis given in Section 4.1 "DISASSEMBLY/REASSEMBLY ."

Replacement Interval
ep For the replacement

Parts Name Qty (Number of printsin procedure, refer to:
terms of A4 size)

Heat-fixing unit 1 50,000 pages Subsection 4.1.12
Paper pull-in roller 1 50,000 pages Subsection 4.1.11
(Nustration on page 4-36)

Separation pad ASSY 1 50,000 pages

NOTE: The above table gives only the reference values.

4-64



4.4 MTBF/MTTR

The meantime between failures (MTBF) and meantime to repair (MTTR) of this machine are
listed below.

MTBF: At least 10,000 hours
MTTR: Average 30 minutes per repair

4-65



CHAPTER 5
MAINTENANCE MODE



5.1
5.2
5.3

CHAPTER 5 MAINTENANCE MODE

CONTENTS
ENTRY INTO THE MAINTENANCE MODE .......ccooiiiiiccccecrere s sssssrs e s es s mnses e e s e 5-1
LIST OF MAINTENANCE-MODE FUNCTIONS. .......ooiieeieree e 5-2
DETAILED DESCRIPTION OF MAINTENANCE-MODE FUNCTIONS ........ccccccceernnnnee. 5-4
5.3.1 EEPROM Parameter Initialization .............ccooceeiiiiiiiiiiiec e 5-4
5.3.2 Printout of Scanning Compensation Data............ccccoecviiiiiieeciiiiiiecee e 5-5
5.3.2A Movement of CCD Unit to the Transport Position ...........cccccooiioiiiiiiiiiie. 5-1
5.3.3  ADF Performance Test .......coouiiiiiiiiie i 5-7
5.3.4  TestPattern 1. s 5-8
5.3.5 Firmware Switch Setting and Printout ..............ccccoooiiiiiii e, 5-9
5.3.6 Operational Check Of LCD ......coiiiiiiiiii et 5-12
5.3.7 Operational Check of Control Panel PCB ............cccccooviiiiiiiie e 5-12
5.3.8 Sensor Operational CheCK ..........oooueeiiiiiiie e 5-14
5.3.9 Fine Adjustment of Scanning Start/End Position ..............ccccceeiiiiiiiieiie e 5-15
5.3.10 CCD Scanner Area Setting ........ccueeiiiiiiiiiiiiiee et 5-16
5.3.11 EEPROM CUSTOMIZING ...coutiiiiiiiiiiiie it 5-16
5.3.12 Display of the Machine's Log Information .............cccccoiiiiiiiiiiiiiiiieee, 5-17
5.3.13 Machine Error Code INdIiCation...........cccooiiiiiiiiiiii e 5-18

5.3.14 Output of Transmission Log to the Telephone Line
(Not applicable to machines W/0 fax) .......cccuueiieieiiiiiiiee e 5-18

5.3.15 Cancellation of the Memory Security Mode
(Applicable to the European version w/ fax only) .........ccccceeeeieiiiieieeec v, 5-19



5.1

ENTRY INTO THE MAINTENANCE MODE

For machines w/ fax
To make the machine enter the maintenance mode, press the Menu, *, 2, 8, 6, and 4 keys in this

order. |e Within 2 seconds e|

For machines w/o fax
To make the machine enter the maintenance mode, press the Menu, 0, 2, 8, 6, and 4 keys in this

order. |e Within 2 seconds 9|

The machine beeps for approx. one second and displays " Bl MAINTENANCE BRI " on the LCD,
indicating that it is placed in the initial stage of the maintenance mode, a mode in which the
machine is ready to accept entry from the keys.

To select one of the maintenance-mode functions listed in Section 5.2, enter the corresponding 2-
digit function code with the numerical keys on the control panel. (The details of each maintenance-
mode function are described in Section 5.3.)

NOTES: -« Pressing the 9 key twice in the initial stage of the maintenance mode makes the machine
exit from the maintenance mode, restoring it to the standby state.

* Pressing the Stop key after entering only one digit restores the machine to the initial stage
of the maintenance mode.

« If an invalid function code is entered, the machine resumes the initial stage of the
maintenance mode.

5-1



5.2 LIST OF MAINTENANCE-MODE FUNCTIONS

Maintenance-mode Functions

. Reference
Function Function Subsection
Code
(Page)
01 EEPROM Parameter Initialization 5.3.1(5-4)
05 Printout of Scanning Compensation Data 5.3.2(5-5)
06 Movement of CCD Unit to the Transport Position 5.3.2A (5-6-1)
08 ADF* Performance Test 5.3.3(5-7)
09 Test Pattern 1 5.3.4 (5-8)
10 Firmware Switch Setting 5.3.5(5-9)
11 Printout of Firmware Switch Data 5.3.5(5-11)
12 Operational Check of LCD 5.3.6 (5-12)
13 Operational Check of Control Panel PCB 5.3.7 (5-12)
(Check of Keys and Buttons)
32 Sensor Operational Check 5.3.8 (5-14)
54 Fine Adjustment of Scanning Start/End Position 5.3.9 (5-15)
55 CCD Scanner Area Setting 5.3.10 (5-16)
74 EEPROM Customizing 5.3.11 (5-16)
80 Display of the Machine's Log Information 5.3.12 (5-17)
82 Machine Error Code Indication 5.3.13 (5-18)
87 Output of Transmission Log to the Telephone Line 5.3.14 (5-18)
91 EEPROM Parameter Initialization (except the telephone 5.3.1(5-4)
number storage area)
99 Exit from the Maintenance Mode =~ | - (5-1)

5-2

* ADF: Automatic document feeder



-------------------------- IMPORTANT - - - e oo mee oo

Basically, the maintenance-mode functions listed on the previous page should be accessed by
service personnel only. However, you may allow end users to access some of these under the
guidance of service personnel (e.g., by telephone).

The user-accessible functions (codes 06, 10, 11, 12, 54, 80, 82, 87 and 91) are shaded in the table
given on the previous page. Function code 10 accesses the firmware switches, each of which has
eight selectors. You should not allow end users to access all of those selectors, but you may allow
them to access user-accessible selectors which are shaded in the firmware switch tables in
Appendix 2.

The service personnel should instruct end users to follow the procedure given below.

(1) For MFC6800
Press the Menu and Receive Mode keys in this order.
NOTE: The Receive Mode key is inoperable during standby for redialing and timer.
For MFC9180
Press the Menu and Fax Resolution keys in this order.
For DCP1000 and MFC9160
Press the Menu and Sort keys in this order.

The LCD clears the current display.
(2) Press the 0 key.

(3) Enter the desired function code (06, 10, 11, 12, 54, 80, 82, 87, or 91) with the numerical keys.

For function code 10, access the desired firmware switch according to the operating procedure
described in Appendix 2.

(4) To make the machine return to the standby state, press the Stop key.

For machines w/ fax

Receive Mode key  Fax Resolution key Menu key

T
G @ @
eeeeee ss)

]

\\ Fax, / Sc% Prin/ /,
\\ // Receive Cc;) C;j &;0) s@%\\z // ' Oscan to O Reset ///

ors TV Wz \ ¥ - _

\ 0, ® Faxstart e F/ O Qcorims Cop, / g
Y P&Jje \\ O A = / / Omear O o O e //
\\\ @ @ @ O Qb >7, /4 Settings ptions opy - -
T~ N . it P L o

0 key Stop key

For machines w/o fax

Menu key Sort key

N R octher ocri000 | |
oce coo s WEElY

Print_ O COP
Paper Size  Contrast
o O
Copy

N\ Coplers Printer -Scanner @ @ @ ot
AN
Clear
O Seiﬂngsoomm“ O

. LASER

@D ©® O s,
‘\\ to




5.3 DETAILED DESCRIPTION OF
MAINTENANCE-MODE FUNCTIONS

5.3.1 EEPROM Parameter Initialization
B Function

The machine initializes the parameters, user switches, and firmware switches registered in the
EEPROM, to the initial values. Entering the function code 01 initializes all of the EEPROM areas,
but entering 91 does not initialize some areas, as listed below.

Function code
Data item 01 2

Maintenance-mode functions A )
User switches These will be
Firmware switches initialized
Remote activation code )

Activity report All of these will be. | )
Station ID data initialized

Outside line number > These will not be

Telephone function registration initialized
Speed dialing

Group dialing )

Received FAX messages
temporarily stored.m the flash These will not be initialized.

memory (Not applicable to the (Note that the first digit of the 4-digit customizing
American version) code will be initialized to "0." If the code is 1001, for
EEPROM customizing code example, it will be initialized to 0001.)

(4-digit)

NOTE: If you replace the main PCB with one used for any other machine, carry out this
procedure and then customize the EEPROM (maintenance-mode function code 74 in Subsection
5.3.11).

B Operating Procedure

(1) Press the 0 and 1 keys (or the 9 and 1 keys according to your need) in this order in the initial
stage of the maintenance mode.

The "PARAMETER INIT" will appear on the LCD.

(2) Upon completion of parameter initialization, the machine returns to the initial stage of the
maintenance mode.

5-4



5.3.2 Printout of Scanning Compensation Data

B Function

The machine prints out the white and black level data for scanning compensation.

B Operating Procedure

Do not start this function merely after powering on the machine but start it after carrying out a
sequence of scanning operation. Unless the machine has carried out any scanning operation, this
function cannot print out correct scanning compensation data. This is because at the start of
scanning operation, the machine initializes white and black level data and takes in the scanning
compensation reference data.

(1) Press the 0 and 5 keys in this order in the initial stage of the maintenance mode.

The "WHITE LEVEL 1" will appear on the LCD.

(2) The machine prints out the scanning compensation data list containing the following:

a)
b)
c)
d)
e)
f)
g)
h)
i)
j)

A/D converter reference level for high value (3 bytes for green, blue, and red)
A/D converter reference level for low value (3 bytes for green, blue, and red)
Dark level offset data (3 bytes for green, blue, and red)

Gain control data (3 bytes for green, blue, and red)

Voltage division data (3 bytes for green, blue, and red)

Compensation data for background color (1 byte)

2-value quantization black level data (3 bytes for green, blue, and red)
2-value quantization white level data (4912 bytes for green)

2-value quantization white level data (4912 bytes for blue)

2-value quantization white level data (4912 bytes for red)

(3) Upon completion of recording of the compensation data list, the machine returns to the initial
stage of the maintenance mode.

NOTE: If any data is abnormal, its code will be printed in inline style, as shown on the next page.

5-5



g){

48044788 :
48044709 :
4004470a :

4804470d
48@4470e
4804470f

40044712
4PB44713
46044714

40044717
48044718
48044719

4884471d
4804471e
4pe4471f

4804471c
58792008

50792100
56792200

1999-g1-36-21:19

d8
de
de
50786000 : & ilE NE
50786010 : [ WE s
50786020 : [ iE
50786030 : W3 E M
587368408 *_77 & 77
29735058 | 50785408 : 89 §7 88 88 8c 83 Bb 89 8a 88 8o 8a 89 89
5R736070 50786418 : 8a S8a Ba 88 8b Ba B8z 8a Bb 88 Ba 87 Ba Ba
Saraenen | 58786429 : 8b 89 Bb 8a 8c 89 Bb 88 88 &8 Bd 88 8b 89
DBroegon | 50786432 1 Bc Bb B89 83 8b Bc BS Ba 8a €9 Bc 89 87 83
Dovaca.p 59786448 = 89 89 88 87 B9 88 B8 B8 BB B6 87 87 86 8B
DhvbcoLp |00786d58 : 89 87 Ba 88 89 87 BS 89 89 €8 89 89 88 87
Savotaon | 50786468 : 83 B89 88 Ba 8a 83 B8 87 86 88 B8 85 89 88
Sgroep s | 08786478 : 88 83 Ba 865 89 88 BS 87 89 €9 Ba 83 8a 86
Savith.g | 58786488 : Bb 89 88 88 89 88 BB 88 82 88 8b 88 Ba 8b
gvocgrp | 08786498 : 8b 89 Ba Ba Bc 8a Bz 8b 8c £a 8a 8a 8a 8b
2oraciny |58786da@ : 85 8a 8a 8b Bc 8a 89 8c 8b 8a Bd 8a 8b 88
EBTSﬁliﬁ 507864bB : 8b €9 89 Ba 8a 88 B8c 8a Ba 89 B8c 89 8a 89
2078c12g |587864cl : Ba Ba 88 8b 8c 8a 8a 8b 8d 8b 8d 8a 8a b
59786130 |587864d@ : 8b 8a 8d 8b 8b 8a Bd Bc Bd 8b 8c 8d 8d 8b
S@vatlap | 587864eB 1 8 Bc Be Bc 91 Bb
EA786150 567864f0 : Be 8c Be 8c Be
BB73Elce LoB7860080
54786170 210 ¢
53786180
Sovelan [0
a 2a =
507861b0 | 2878ec2?
507861c8 | zpoe g [5878f0AB : 72 72 73 78 72 72 6f 72 73 73 72
507861d8 | aae "7p (5878018 : 71 72 72 78 72 78 71 73 73 72 74
507861e8 | poaC ap (5878828 1 73 71 72 78 72 73 73 72 73 73 75
5878619 | mpo0 - cop [5878fB30 : 71 72 74 72 71 73 72 78 13 71 71
50786208 | 2poa” 20 [5878f04B : 72 71 70 71 71 71 70 6Ff 72 72 EF
50786218 | zpo0 - Np (5878058 ¢ 71 78 71 71 74 72 71 72 72 &f 72
50786220 | Sn7aacce | 5878FB68 1 71 72 73 72 71 74 71 73 72 72 7
58786238 | ppoo” " n [5078f870 1 73 71 70 70 be 7@ 71 71 78 70 72
50786249 | 2noa°- o [5878fB88 : 6F 78 71 72 72 71 71 72 71 78 71
50788258 | mpoo” “fp (5078099 : 7@ 72 72 71 74 71 72 72 71 73 72
50786268 | 2a2a° ap [5078FBaB : 72 78 78 71 72 72 6f 78 72 72 74
58786278 | cpoe 1 (5878800 ¢ 75 73 72 6f 71 71 78 70 73 72 72
508786288 | £po0 .40 [5078f0c® ¢ 6f 71 71 be 71 71 6F 71 71 71 7@
50786298 | zpo0 035 [5878fBdD : 71 71 &f 78 73 7@ Ge 78 78 6f 72
58786228 | ppop liap [58788e8 : 71 71 7@ Bf 72 6f 6e 6f 78 6f 73
507862b0 | 2349 1cp [5878f0f8 : 71 71 78 6f 78 78 &d 7@ 78 6 71
507862c8 | fpo0 ycp (5878108 ¢ 6f 78 & 70 Ge 6f 6d 78 72 6f 6f
507862d8 | 2a9a° 479 [ 587Bf11D : be be Ge bd 71 6f &d 6f 62 be Ef
507862eB | o5 e qgp |5078f128 : bf 6f &f 6d 71 78 &f Eo Ee be 78
58786218 | cpoa -9 (5878138 : bf be Ee be Ee 78 71 e &f be 6f
508786308 | Lpoa-qap [5878f148 : bd be Bd 70 78 be e be bf bf Ee
58786318 | 2ooa” G [5878£150 : 6d 6e Bc Bb 7@ 6b 6a 6b 6b 6d 6d
50786328 | 2o 02 0n [ 58787168 : bd Bd Ec bc Be bb 6d Eb Bb 6c B
50786338 | paog ndg | 5878178 : Be bc Be bb Bc bc Bd Ba G6¢ bc Be
50786348 | cooa-nop [5878£188 : Ba 6c Bc Bb 6d 6b 6c 6b &b &d Ea
28786358 | cpo0-irp [5078£198 : 6d 6b Ec Bb 71 6d b 6a 6b Ge Ec
50786360 | 5a7e°Cpp [ 5876F1aB : 69 6c Gc 6a Ec 6a 6a 6b Ga 5b Ec
50786370 | Spogccly [50708f1b8 : Gb 6b Gb Ga Gb Ga Gc Ge Ga 69 Gb
508786380 | op20- 5 [5078f1cB : ba 6b 6a ba 6c ba 6a 6a 6b bb Eb
58786390 | cp20-037 [5878F1d8 : 69 6c Bb 69 bd ba bb bb 68 69 Eb
507863a0 | cp7g-cag [5078f1eB : 6a 69 69 6a bc ba 68 68 6c 69 Bc
5087863b0 | pp70-Crp [5078F1f8 : 69 69 69 68 69 ba ba 67 6¢c 58 69
5878638 | zpzoc r@ | 50787268 : 69 66 67 68 ba 68 67 68 69 Ga 68
587863d0 | ppoo- 2q [5078F218 @ 67 69 68 67 67 67 67 68 67 57 ba
587863e8 | para- -og | 5878228 : 67 67 57 65 B8 b6 66 68 67 57 68
5078630 | pr7g009p | 5878238 : 69 67 &7 67 68 68 66 67 66 66 68
Sp78acag | 5978248 : 67 68 66 66 69 67 67 67 67 57 68
5@ 78acha | 9078250 : 67 65 67 65 69 68 67 66 66 56 67
E@78a0cq | 9978260 @ 68 66 65 65 66 68 66 64 65 57 69
5@78a0dad | 99787270 : 66 66 65 63 65 63 65 65 66 64 64
567800e@ | 58787288 : 67 64 66 63 64 63 64 64 64 65 65
507800fg | 5878298 : 66 64 65 65 67 64 64 64 63 64 65
SO780F@g | 5878f2aB : B4 63 62 63 63 64 64 63 65 61 65
Sp780fle | 5878f2b@ : B2 64 62 61 B3 62 64 £3 63 64 62
50780f00 | 5878f2cB : B4 63 62 62 62 63 62 63 62 63 62
S0780f30 | 5878F2dB : B2 653 62 5f 65 62 62 62 63 64 62
5g78ef4p | 5878f2eB : b2 61 E1 62 b4 62 b1 b1 E1 62 B5
Sg78of50 | 5878f2fB : 5f 61 61 Bl 62 68 61 61 63 62 61
S078ofog | 5878300 : 68 61 61 68 5f 62 6@ 5f 61 5f 62
5a780f70 | 5878318 : 5f Bl 6@ 5f 63 5f 5f 68 5f 5@ 63
Ra78efapn | 5678328 : 68 5f Be 5e 61 68 be 5f 5f 5 bl
5@78ef90
5078efaf
5@78efb@
5@78efcl
5@78efdB
5078efel
5@78effB

Scanning Compensation Data List

5-6



5.3.2A Movement of CCD Unit to the Transport Position
B Function

This procedure moves the CCD unit to the transport position of the right end of its travel. After
completing repairs and operation checks on the machine, you need to carry out this procedure
immediately before packing and transporting the machine.

NOTE: If an end user needs to transport his/her machine to the dealer or service station for repair,
then you should instruct him/her to carry out this procedure if possible before packing and
transporting the machine. (For the user-access to the maintenance mode, refer to page 5-3.)

B Operating Procedure

(1) Press the 0 and 6 keys in this order in the initial stage of the maintenance mode.

The CCD unit will move to the right end of its travel, during which the "MAINTENANCE 0"
will appear on the LCD.

When the CCD unit reaches the transport position, the "SCAN LOCKED" will appear on the
LCD.

(2) Press the Stop key to make the machine return to the initial stage of the maintenance mode.

5-6-1



5.3.3 ADF Performance Test
B Function

The machine counts the documents fed by the automatic document feeder (ADF) and displays the
count on the LCD for checking the ADF performance.

B Operating Procedure

(1) Set documents. (Allowable up to the ADF capacity.)
The "DOC. READY" will appear on the LCD.
(2) Press the 0 and 8 keys in this order.

While counting the documents, the machine feeds them in and out, displaying the current
count on the LCD as shown below.

|ADF CHECK P.01 |

LCurrent count (1st page in this example)

(3) After showing the final count, the machine beeps for one second. To return the machine to the
initial stage of the maintenance mode, press the Stop key.

5-7



5.3.4 Test Pattern 1
B Function
This function, much like the copying function, prints out test pattern 1 to allow the service

personnel to check for record data missing or print quality.

B Operating Procedure

Press the 0 and 9 keys in this order in the initial stage of the maintenance mode.

The figure below shows test pattern 1.

| HEEEEEEENEEEEE .S . N

Test Pattern 1

5-8



5.3.5 Firmware Switch Setting and Printout

[A] Firmware switch setting

B Function

The machine incorporates the following firmware switch functions which may be activated with
the procedures using the control panel keys and buttons.

The firmware switches have been set at the factory in conformity to the communications standards
and codes of each country. Do not disturb them unless necessary. Some firmware switches may not
be applicable in some versions. The firmware switch data list indicates "Not used." for those
inapplicable switches.

Firmware Switches (WSWO01 through WSW46)

WSW No. Function
WSWO01 Dial pulse setting
WSWO02 Tone signal setting
WSWO03 PABX mode setting
WSWwWo04 TRANSFER facility setting
WSWO05 1st dial tone and busy tone detection
WSWO06 Pause key setting and 2nd dial tone detection
WSWO07 Dial tone setting 1
WSWO08 Dial tone setting 2
WSWO09 Protocol definition 1
WSWI10 Protocol definition 2
WSW11 Busy tone setting
WSW12 Signal detection condition setting
WSW13 Modem setting
WSWw14 AUTO ANS facility setting
WSW15 REDIAL facility setting
WSW16 Function setting 1
WSW17 Function setting 2
WSWI18 Function setting 3
WSW19 Transmission speed setting in V. 17 mode
WSW20 Overseas communications mode setting
WSWwW21 TAD setting 1
WSWw22 ECM setting
WSWw23 Communications setting
WSW24 TAD setting 2
WSW25 TAD setting 3
WSW26 Function setting 4
WSW27 Function setting 5
WSW28 Function setting 6
WSW29 Function setting 7
WSW30 Function setting 8
WSW31 Function setting 9
WSWwW32 Function setting 10
WSW33 Function setting 11

5-9



Firmware Switches (WSWO01 through WSW46) Continued

WSW No. Function
WSW34 Function setting 12
WSW35 Function setting 13
WSW36 Function setting 14
WSW37 Function setting 15
WSW38 Function setting 16 in V. 34 mode
WSW39 Transmission speed setting in V. 34 mode
WSW40 Function setting 17 in V. 34 mode
WSWw41 CCD fluorescent lamp and modem attenuator in V. 34 mode
WSw42 Function setting 18
WSw43 Function setting 19
WSw44 Speeding up scanning-1
WSW45 Speeding up scanning-2
WSW46 Monitor of power ON/OFF state

B Operating Procedure

(1) Press the 1 and 0 keys in this order in the initial stage of the maintenance mode.

The machine displays the "WSWO00" on the LCD and becomes ready to accept a firmware
switch number.

(2) Enter the desired number from the firmware switch numbers (01 through 46).

The following appears on the LCD:

Selector 1 Selector 8
WSWXX=bOOOOOOb
(3) Use the right and left arrow keys to move the cursor to the selector position to be modified.
(4) Enter the desired number using the 0 and 1 keys.

(5) Press the Set key. This operation saves the newly entered selector values onto the EEPROM
and readies the machine for accepting a firmware switch number.

(6) Repeat steps (2) through (5) until the modification for the desired firmware switches is
completed.

(7) Press the Set or Stop key to return the machine to the initial stage of the maintenance mode.
NOTES: + To cancel this operation and return the machine to the initial stage of the
maintenance mode during the above procedure, press the Stop key.

o If there is a pause of more than one minute after a single-digit number is entered for
double-digit firmware switch numbers, the machine will automatically return to the
initial stage of the maintenance mode.

B Details of Firmware Switches

The details of the firmware switches are described in Appendix 2 in which the user-accessible
selectors of the firmware switches are shaded.

5-10



[B] Printout of firmware switch data

B Function

The machine prints out the setting items and contents specified by the firmware switches.

B Operating Procedure

(1) Press the 1 key twice in the initial stage of the maintenance mode.
The "PRINTING" will appear on the LCD.
(2) The machine prints out the configuration list as shown in the figure below.

(3) Upon completion of printing, the machine returns to the initial stage of the maintenance mode.

CONFIGURATION LIST

MODEL : 8C5-613
TIME : ©3/11/1999 09:29

REV. : UB1B7031847VER.O
PCI : 5.00
SUM @ 6959
SER. # : BRO108000028
Wwswal = ppaeeBla
WSwez2 = 11111@l@
WSWA3 = 10080000
WSWe4 = Bpe16111
WSWB5 = 60600110
WSWee = 60101100
WSWe7 = 810811668
WSWes = 011090100
WSWe9 = DB0B00ao
WSWie = ppA101086
WSW11l = 1011660
WSW12 = 19011011
WSW13 = pB@11010
WSW1ld4 = 01106111
WSW15 = 0pB0Bl110
WSW16 = P1100010
WSW17 = 00100011
WSW18 = 10001618
WSW19 = 11106080
WSW20 = 16811111
WSW21 = 00101000
WSW22 = BB1BpRAA
WSW23 = 06901110
WSW24 = 01000010
WSW25 = pAA11A16
WSW26 = 0R1160010
WSW27 = 00160081
WSW28 = BPABBRAO
WSW29 = B11010881
WSW3e = 10000000
WSW31 = 10168181
WSW32 = 01016000
WSW33 = 10000010
WSW34 = 0810008
WSW35 = 91006008
WSW36 = 00AO1000
WSW37 = 186801081
WSW38 = prO10106
WSW39 = 11110000
WSW4e = 00RAPRAD
WSW4l = BBEAB111
WSW42 = 1111081088
WSW43 = BprABEAL
WSWd4 = 9RBABELA
WSW45 = 80BABELA
WSW46 = B6BB0BAAG
WSW47 = POPABOBG
WSW48 = PBDbDO0BD
WSW49 = BRBEBRAB
WSW58 = PeBRPBBY

Configuration List

5-11



5.3.6 Operational Check of LCD

B Function

This function allows you to check whether the LCD on the control panel works normally.

B Operating Procedure

(1) Press the 1 and 2 keys in this order in the
initial stage of the maintenance mode. L
The LCD shows the screen given at right SENENNENEENEEEES
' EEEEEEEEEEEEEEEE
(2) For machines w/ fax: Press the Fax Start ¢ Fax Start key or Sort key
key. Each time you press the Fax Start
kez, the LCD cy};les I‘zhrough the displays |
I

shown at right.

¢ Fax Start key or Sort key
For machines w/o fax: Press the Sort key.

Each time you press the Sort key, the LCD
cycles through the displays shown at right.

| Fax Start key or Sort key

(3) Press the Stop key in any process of the above display cycle. The machine beeps for one
second and returns to the initial stage of the maintenance mode.

5.3.7 Operational Check of Control Panel PCB

B Function

This function allows you to check the control panel PCB for normal operation.

B Operating Procedure

(1) Press the 1 and 3 keys in this order in the initial stage of the maintenance mode.
The "00 " will appear on the LCD.
(2) Press the keys and buttons in the order designated in the illustration shown below.

The LCD shows the corresponding number in decimal notation each time a key or button is
pressed. Check that the displayed number is correct by referring to the illustration below.

If a key or button is pressed out of order, the machine beeps and displays the "INVALID
OPERATE" on the LCD. To return to the status ready to accept key & button entry for
operational check, press the Stop key.

(3) After the last number key or button is pressed, the machine beeps and returns to the initial
stage of the maintenance mode.

To terminate this operation, press the Stop key. The machine returns to the initial stage of the
maintenance mode.

5-12



For machines w/ fax

]

] !

@ +Copler »Scanner «PC Fax
Scan to @Resel i

F N M Broad(asl
Receive @" Speed Dial . " "
PQK @ Ratio Contrast Mode @
Enlargel'
Red\a\/ ‘ @ Fax Start @;Reduce () Contrast
C
o8] @@@@ (» Bz Bone Gy

For machines w/o fax

e epor brother DCP-1000
L e @ E
Sort Coy Mod
& Copy
Contrast

\ = =< 5 '
= Print_
Cop\er + Printer +Scanner 606666 Reset . n y
Ratio Contrast  Mode T > Pape, Size
N W

@ (DY @ @)
Reduce Enlarge Stop/Exit

Key & Button Entry Order



5.3.8 Sensor Operational Check

B Function
This function allows you to check whether the eight sensors--document front sensor, document

rear Sensor, scanner open sensor, registration sensor, paper ejection sensor, toner sensor, CCD HP
sensor, and document tray open sensor--operate correctly.

B Operating Procedure

(1) Press the 3 and 2 keys in this order in the initial stage of the maintenance mode. The machine
beeps 1100 Hz and 400 Hz tones cyclically through the following volumes for testing the
speaker.

1100 Hz

> Low — Medium — High

OFF OFF

L 400 Hz J

High <« Medium < Low

NOTE: To stop beeping, press the Menu key.

If the sensing status are as listed below, the LCD will show the following:
"FRRECVRGPOTNFHFC

Given below is the relationship between the LCD indication, sensor names and sensor status.

LCD Sensors Sensing status

FR  Document front sensor No document detected.

RE  Document rear sensor No document detected.

CV  Scanner open sensor Scanner unit closed.

RG  Registration sensor No paper detected.

PO  Paper ejection sensor No paper jam.

TN  Toner sensor Toner detected.

FH  CCD HP sensor CCD unit placed in the home position
FC  Document tray open sensor Document tray closed.

(2) Change the detecting conditions (e.g., insert paper through the document sensors or the
registration sensor, open the scanner unit, jam paper at the paper outlet, remove the toner
cartridge, move the CCD unit out of the home position, open the document tray), and then
check that the indication on the LCD changes according to the sensor states.

(3) To stop this operation and return the machine to the initial stage of the maintenance mode,
press the Stop key.



5.3.9 Fine Adjustment of Scanning Start/End Position

B Function

This function allows you to adjust the scanning start/end position.

B Operating Procedure

(1) Press the 5 and 4 keys in this order in the initial stage of the maintenance mode.

The "SCAN START ADJ." and "1.ADF 2.FB" appear on the LCD in this order.

2

3)

3)

Press the 1 or 2 key.

The current scanning position correction value appears.

You may adjust the correction value to 11 levels from +5 to -5 (mm).

To increase the correction value, press the left arrow key; to decrease it, press the right arrow

key.

If you press the Stop key, the machine returns to the initial stage of the maintenance mode

without making change of the correction value.

Press the Set key.

The "ACCEPTED" appears on the LCD. After one second, the machine returns to the initial

stage of the maintenance mode.

!

[MATINTENANCE |
1 5 and 4 keys

[SCAN START ADI. |
[

Stop key v
L 1.ADF 2.FB |
l 1 or 2 key
Set key Stop key
4' + [ | - |—'
Left arrow key | Right arrow key Stop
l _'l key
[« -
| |
l Set key
L [ACcCEPTED |
| 1 second later
Right arrow key
Left arrow key

5-15

NOTE: The relationship between
the scanning start/end positions
and their correction values is
shown below.

Leading edge of document

+++++ a0 + + 4+ ++ a0
ARWON_2O=_2N®AG ARWN=_2O=2N®AG

Trailing edge of document




5.3.10 CCD Scanner Area Setting

B Function

The machine sets the CCD scanner area and stores it into the EEPROM.

B Operating Procedure

(1) Press the 5 key twice in the initial stage of the maintenance mode.
The "SCANNER AREA SET" will appear on the LCD.
The machine checks and sets the area to be scanned.
If no error is noted, the machine returns to the initial stage of the maintenance mode.

If any error is noted, the "SCANNER ERROR" will appear on the LCD. To return the
machine to the initial stage of the maintenance mode, press the Stop key.

5.3.11 EEPROM Customizing

B Function

This function allows you to customize the EEPROM according to language, function settings, and
firmware switch settings. The customizing codes list is given in Appendix 1.

NOTE: If you replace the main PCB, be sure to carry out this procedure.

B Operating Procedure

(1) Press the 7 and 4 keys in this order in the initial stage of the maintenance mode.
The current customizing code (e.g., 9001 in the case of MFC6800 USA version) appears.
(2) Enter the desired customizing code (e.g., 0002 in the case of MFC6800 Canadian version).
The newly entered code appears.
NOTE: If a wrong 4-digit code is entered, the machine will malfunction.

(3) For machines w/ fax: Press the Fax Start key.
For machines w/o fax: Press the Sort key.

The machine saves the setting and returns to the initial stage of the maintenance mode.

If you press the Stop key or no keys are pressed for one minute in the above procedure, the
machine stops the procedure and returns to the initial stage of the maintenance mode.



5.3.12 Display of the Machine's Log Information

B Function

The machine may display the its log information on the LCD.

B Operating Procedure

(1) Press the 8 and 0 keys in this order in the initial stage of the maintenance mode.

2

3)

The USB serial number appears on the LCD.

For machines w/ fax: Press the Fax Start key.
For machines w/o fax: Press the Sort key.

Each time the Fax Start or Sort key is pressed, one of the following log information items
appears on the LCD in the order given below.

1)
2)
3)
4)
5)
6)
7)
8)

9)

Jam count, indicating how many times a paper jam has been occurred

Page count, indicating how many pages the current drum has been printed

Total page count, indicating how many pages the machine has been printed since produced
Drum count, indicating how many times the drum has been rotated

Drum change count, indicating how many times drum replacement has been made

Toner change count, indicating how many times toner replacement has been made

Copy page count, indicating how many copies have been made

PC print page count, indicating how many pages the machine has been printed as an output
device of the connected PC

FAX page count, indicating how many received FAX pages have been printed

10) Error code of the most recent machine error

11) Error code of the most recent communications error

12) ADF jam count, indicating how many times a document jam has been occurred
13) ADF page count, indicating how many documents have been fed

To stop this operation and return to the machine to the initial stage of the maintenance mode,
press the Stop key.

5-17



5.3.13 Machine Error Code Indication
B Function

This function displays an error code of the last error on the LCD.

B Operating Procedure

(1) Press the 8 and 2 keys in this order in the initial stage of the maintenance mode.

The LCD shows the "MACHINE ERROR X X."

(2) To stop this operation and return the machine to the initial stage of the maintenance mode,
press the Stop key.

5.3.14 Output of Transmission Log to the Telephone Line (Not applicable to machines w/o fax)

B Function

This function outputs the transmission log 